[mams: )UK
FRAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1ISEE
FHExtg 1A 120 2H2H 3H8H 47 27H
BB (A L EKAE ety ety ety ety
A 2| KfE 5 & 5 iS5
A 3ERKIEH B4y 12:16 10:10 11:25 12:45
A 6|k m 0. 40 0.58 0.70 0.83
A T BRAKOKEE m 0.10 0.10 0.10 0.10
A 8|&UR T 10.0 9.4 13.5 23.0
A 9PKIE C 5.7 7.0 9.4 15. 0
A 11448 et | sl | eS| RaEH
A I2|REK i 5L i 5 i 5L i 5
A 13|BHEE cm >100 >100 >100 >100
AEIEEREE (B 1|pH 7.6 7.6 7.4 7.4
(KR °C) (10) (13) (15) (18)
B 2|D0 mg/1 13 12 12 11
B 3|BOD mg/1 0.5 < 0.5 0.6 < 0.5
B 4|coD mg/1 1.2 1.4 1.2 1.4
B 5/SS mg/1 1 <1 1 1
B 6| KIGHREEK MPN/100m1 49 330 230 230
B T|iREH mg/1 0.51 0. 65 0.63 0.52
B 8V mg/1 0. 006 0. 005 0. 004 0. 008
e HEC 1A KRITA mg/1 _ — — —
C 2/(B®)vTv mg/1 — — — —
C 4\%n mg/1 — — — —
C 57 =L mg/1 — — — —
C 6/b# mg/1 — — — —
C  T|HKER mg/1 — — — —
C 8|7/ F/LKkEE mg/1 — — — —
C  9|pcB mg/1 — — — —
C 10|rYV I TF L mg/1 — — — —
C 1|7 h7Z7uvpxFLv mg/1 — — — —
C 12|k iRE mg/1 — — — —
C 13|¥r7muaRrHv mg/1 — — — —
C l4|l,2-Y7unpnxHy mg/1 — — — —
C 15|, ,1-RVZmmp=xH mg/1 — — — —
C 161, ,2-FNVZmpmp=xH mg/1 — — — —
c 17|, 1-¥YZuopnxzFL v mg/1 — — — —
C 18|vA-1L,2-v/nnxFL v mg/1 — — — —
C 19|1,3-vZ7murmo~X mg/1 — — — —
C 20[F 7T L mg/1 — — — —
C 21|v~T (CAD) mg/1 — - — —
C 2|FA BT mg/1 — — — —
C 23R Py mg/1 — — — —
C 241V mg/1 — — — —
C 257 v mg/1 — — — —
C 26|FKUHE mg/1 — — — —
HEXHEH (D 1|7 =/ — VR mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HESH mg/1 — < 0.004 — —
D A\VEfRMERR mg/1 — — — —
D 5|EfRME~ mg/1 — — — —
D 6/(D)rrAi mg/1 — — — —
D 8h—~FHEwE mg/1 — — — —
BoREl |E 2 MinyEeReE R mg/1 — — — —
E  3|HMEIERE R mg/1 — — — —
FEREE S 17001044 | 170010-47 | 170010-52 | 180010-1




[mams: )UK
FRAEA H| SEEKI8HE | ERKISH | ERKISHE | SEAKLISEE
FHExtg 5H9H 6H7H 7TH12H 8H2H
BB (A L EKAE ety ety ety ety
A 2| KfE & 5] & 75
A 3ERKIEH B4y 12:55 11:57 13:35 13:50
A 6|k m 0.68 0. 30 0.98 0.84
A T BRAKOKEE m 0.10 0.10 0.10 0.10
A 8|&UR T 26.7 26.3 27.0 33.5
A 9PKIR C 15.6 19.5 22.3 24.6
A 11448 ffaEl | meaEl | EeEl | RaEH
A I2|REK e 5L i 5L i 5 pi
A 13| B cm >100 >100 >100 >100
AEVEBRET (B 1|pH 7.6 7.5 7.4 7.5
(KR °C) (20) (22) (24) (26)
B 2/DO mg/1 10 9.2 9.3 8.8
B 3|BOD mg/1 1.0 0.6 < 0.5 0.5
B 4|COD mg/1 1.5 1.6 2.3 1.5
B 5|SS mg/1 2 <1 2 <1
B 6| KIGHREEK MPN/100m1 1, 700 1, 100 2,400 1, 300
B T|iREH mg/1 0.51 0. 48 0. 49 0. 44
B 8V mg/1 0. 009 0. 008 0.011 0.011
B FE|C I RITA mg/1 < 0.001 — — —
c 2/®>vTv mg/1 <0.1 — — —
C 48 mg/1 < 0.005 — — —
C 57 =L mg/1 < 0.005 — — —
C 6/b# mg/1 0. 002 — — —
C  TlHIKER mg/1 < 0. 0005 — — —
C 8|7/ ILKER mg/1 < 0.0005 — — —
C 9|PCB mg/1 < 0.0005 — — —
C 10|rRYZomxzFL o mg/1 < 0.001 — — —
O VR N/ = R = I R P mg/1 < 0.001 — — —
C 12|VuHEfbiRH mg/1 < 0.0002 — — —
C 13|¥rmuariy mg/1 < 0.001 — — —
C l4|,2-Yr7munxiy mg/1 < 0.0004 — — —
c 15,1, 1-hVZ/roxHZ mg/1 < 0.001 — — —
C 16|1,1,2-~ V7 roxTHZ mg/1 < 0.0006 — — —
C 17|\L,1-Y7anzFLr mg/1 < 0.001 — — —
C 18|vx-l,2-yZman=FL v mg/1 < 0.001 — — —
C 19|,3-Yr7umnrr~y mg/1 < 0.0002 — — —
C 20[F 7T L mg/1 < 0.0006 — — < 0.0006
C 21|v=r (CAD) mg/1 < 0.0003 — — < 0.0003
C 2| FA_hnT mg/1 < 0.001 — — < 0.001
C 23| ¥ mg/1 < 0.001 — — —
C 241V mg/1 < 0.002 — — —
C 25|73 mg/1 < 0.1 — — —
C 26|FKUHE mg/1 < 0.1 — — —
HEKk#A (D 1|7 = —H mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HsN mg/1 0. 003 — — 0.011
D A\VEfRMERR mg/1 — — — —
D 5|EfRME~ mg/1 — — — —
D 6/(D)rrAi mg/1 — — — —
D Sh—~FHEwE mg/1 — — — —
H#E |E 2|dinyeteEE mg/1 0. 001 — — -
E  3|HMEIERE R mg/1 0.35 — — —
FEFEE S 180010-4 | 180010-14 | 180010-18 | 180010-22




[mams: )UK
FRAEA H| SEEKI8HE | ERKISH | ERKISHE | SEAKLISEE
FHExtg 9H6H 10H5H 11A7H 12750
BB (A L EKAE ety ety ety ety
A 2| KfE = = 5] =
A 3ERKIEH B4y 11:20 11:35 12:10 12:10
A 6|k m 0. 60 0. 30 0.74 0.70
A T BRAKOKEE m 0.10 0.10 0.10 0.10
A 8|&UR T 22.7 23.6 12.1 7.3
A 9PKIE C 22.0 19.2 14.5 9.9
A 11448 ffaEl | meaEl | EeEl | RaEH
A I2|REK e 5L i 5L i 5 pi
A 13|BHEE cm >100 >100 >100 >100
AEVEBRET (B 1|pH 7.5 7.6 7.6 7.4
(KR °C) (23) (22) (16) (13)
B 2|D0 mg/1 8.7 9.7 10 12
B 3|BOD mg/1 1.1 0.6 < 0.5 < 0.5
B 4|coD mg/1 1.8 1.5 1.6 1.2
B 5/SS mg/1 1 <1 <1 <1
B 6| KIGHREEK MPN/100m1 2,200 1, 700 2, 800 230
B T|iREH mg/1 0.51 0. 54 0. 49 0. 45
B 8V mg/1 0.011 0. 007 0. 007 0. 006
f# FE|C 1B RITA mg/1 — < 0.001 — —
c 2/®>vTv mg/1 — <0.1 — —
C 46 mg/1 — < 0.005 — —
C 57 =L mg/1 — < 0.005 — —
C 6/b# mg/1 — < 0.001 — —
C  TlHIKER mg/1 — < 0. 0005 — —
C 8|7/ ILKER mg/1 — < 0.0005 — —
C  9|PCB mg/1 — < 0.0005 — —
C 10/RYZma=FL mg/1 — < 0.001 — —
O VR N/ = R = I R P mg/1 — < 0.001 — —
C 12|uHEAbiRE mg/1 — < 0.0002 — -
C 13|¥r7mmAry mg/1 — < 0.001 — —
C 14|1,2-Y7oux i mg/1 — < 0.0004 — —
C 15,1, 1-hYsmn=x mg/1 — < 0.001 — —
C 16/1,1,2-hYV o= Xy mg/1 — < 0.0006 — —
cC 17]1,1-¥ZmuxFL v mg/1 — < 0.001 — —
C 18|vx-l,2-yZman=FL v mg/1 — < 0.001 — —
C 19]1,3-YZ7muray mg/1 — < 0.0002 — —
C 20[F 7T L mg/1 — — — —
C 21|v~T> (CAT) mg/1 — - — —
C 2|FA BT mg/1 — — — —
C 23R Py mg/1 — < 0.001 — —
C 241V mg/1 — < 0.002 — —
C 257 v mg/1 — < 0.1 — —
C 26|FKUHE mg/1 — < 0.1 — —
HEARHH (D 1| 7=/ —VE mg/1 — — < 0.05 —
D 24 mg/1 — — < 0.004 —
D 3|HESH mg/1 — — < 0.003 —
D A\VEfRMERR mg/1 — — < 0.03 —
D 5|¥EfRME~ T mg/1 — — < 0.005 —
D 6/(&)7nri mg/1 — — < 0.05 —
D Sh—~FHEwE mg/1 — — — —
HA L |E 2| ALRREE mg/1 — 0. 002 — —
E  3fEleREEHR mg/1 — 0.48 — —
FEFEE S 180010-31 | 180010-35 | 180010-41 | 180010-48




[mams: )UK
FHAEA H| SEEKI9AE | RO | FRR194E
FHExtg 1A5H 2H6H 3H2H
BB (A L EKAE ety ety ety
A 2| KA & i) &
A 3ERKIEH HE: Sy 10:55 12:00 12:05
A 6| EKIE m 0.70 0. 65 0.58
A T BRAKOKEE m 0.10 0.10 0.10
A 8|&UR T 5.5 14.6 19. 7
A 9PKIR C 7.7 4.5 10.5
A 11448 et | mEEl | RaEH
A 12|RK i 5 i 5L i 5
A 13| B cm >100 >100 >100
AEVEBRET (B 1|pH 7.5 7.5 7.6
(KR °C) (11) (14) (15)
B 2/DO mg/1 12 12 12
B 3|BOD mg/1 < 0.5 0.9 < 0.5
B 4|COD mg/1 1.2 0.9 1.3
B 5|SS mg/1 <1 <1 <1
B 6| KIGHREEK MPN/100m1 330 490 49
B T|iREH mg/1 0. 47 0. 44 0.57
B 8V mg/1 0. 007 0. 006 0. 007
e FlC 1|FFIUA mg/1 — — —
cC 2/(B®)vTv mg/1 — - —
C 4\%n mg/1 — — —
C 57 =L mg/1 — — —
C 6/b# mg/1 — — —
C  TIHKER mg/1 — — —
C 8|7/ F/LkER mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 h7Z7upxFLv mg/1 — — —
C 12|uHEAbiRE mg/1 — — —
C 13|¥r7muRrHv mg/1 — — —
C l4|l,2-Y7unxHy mg/1 — — —
C 15|, ,1-fRVIZmmp=x X mg/1 — — —
C 16|1,,2-FNVZmrmp=xH mg/1 — — —
c 17|, 1-YZuonxzFL v mg/1 — — —
C 18|vA-lL,2-v/nmnnxFL v mg/1 — — —
C 19|1,3-vZ7murmo~Xr mg/1 — — —
C 201F 77 A mg/1 — — —
C 21|~ (CAT) mg/1 — - -
C 2|FA BT mg/1 — — —
C 23| ¥ mg/1 — — —
C 24|V mg/1 — — —
C 25|7vFE mg/1 — — —
C 26| UFHE mg/1 — — —
HEKk#A (D 1|7 = —H mg/1 — — —
D 2|4 mg/1 — — —
D 3|HESH mg/1 — < 0.003 —
D A\VEfRMERR mg/1 — — —
D 5\EfRME~ T mg/1 — — —
D 6/(D)rrAi mg/1 — — —
D 8 n—~FVHMEHE mg/1 — — -
BoEl |E 2| MinyEeRezE SR mg/1 — — —
E  3|HMEIERE R mg/1 — — —
FEFEE S 180010-52 | 180010-59 | 180010-65




[mams: ®
FRAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1ISEE
FHExtg 1A 120 2H2H 3H8H 47 27H
BB (A L EKAE ety ety ety ety
A 2| KfE 5 & 5 iS5
A 3|ERAKEEZ B4y 12:45 10:35 11:10 13:05
A AlKAT m 0.53 0.56 0.62 0.77
A 6|k m 1.20 1.04 0.82 1.55
A T BRAOKEE m 0.10 0.10 0.10 0.10
A 8IEIA C 11.7 9.4 13.0 23.0
A 9PKIE C 6.2 7.4 9.8 14.9
A 11448 et | sl | EaEl | RaEH
A I2|REK e 5L i 5 i 5 i 5L
A 13|BHEE cm >100 >100 >100 >100
AEIEEREE (B 1|pH 7.7 7.7 7.5 7.4
(KR °C) (10) (13) (14) (17)
B 2|D0 mg/1 13 12 12 10
B 3|BOD mg/1 < 0.5 0.7 0.7 < 0.5
B 4|coD mg/1 1.0 1.1 1.0 1.1
B 5/SS mg/1 <1 <1 1 <1
B 6| KIGHAEEK MPN/100m1 130 170 460 330
B T|iREH mg/1 0.58 0. 66 0.63 0.55
B 8#U mg/1 0. 006 0. 006 0. 005 0. 007
FEREE S 17001044 | 170010-47 | 170010-52 | 180010-1
FRAAEA H| SEEKI8HE | CERKISH | ERKISHE | ARS8
AR SOE 5H9H 6H7H TH12H 8H2H
BB (A KR ity Pty Pty ity
A 2| KfE & 5] & 75
A 3|ERAKEEZ B4y 13:20 12:15 13:49 14:00
A AlKAE m 0.78 0.70 0. 89 0.76
A 6| RkEE m 1.10 1.45 1.10 0.41
A TBRAOKEE m 0.10 0.10 0.10 0.10
A 8IEIA C 28.7 26.0 27.0 34.5
A 9PKIE C 16.5 19.6 22.4 25. 4
A 11408 et | sl | eS| RaAEH
A I2|REK e 5L i 5 i 5. i 5.
A 13 cm >100 >100 >100 >100
AVEBREE (B 1|pH 7.7 7.6 7.4 7.7
(KR °C) (19) (23) (24) (26)
B 2|D0 mg/1 10 9.5 9.4 9.0
B 3|BOD mg/1 1.4 <0.5 0.7 < 0.5
B 4|COD mg/1 1.2 1.8 1.5 1.2
B 5|SS mg/1 1 1 1 <1
B 6| KIGHEEEEL MPN/100m1 700 2,200 2,200 3, 500
B 7lfkEHE mg/1 0.67 0.51 0. 49 0. 44
B 8V mg/1 0. 008 0. 009 0.012 0.013
FEREE S 180010-4 | 180010-14 | 180010-18 | 180010-22




[mams: ®
FRAEA H| SEEKI8HE | ERKISH | ERKISHE | SEAKLISEE
FHExtg 9H6H 10H5H 11A7H 12750
BB (A L EKAE ety ety ety ety
A 2| KfE = = 5] =
A 3|ERAKEEZ B4y 11:35 11:50 12:25 12:25
A 4PKAT m 0.57 0.70 0. 66 0.62
A 6|k m 1.02 1.45 0.86 0.82
A T BRAOKEE m 0.10 0.10 0.10 0.10
A 8IEIA C 22.2 24.5 13.0 8.1
A 9PKIE C 22.0 19.5 14.3 8.9
A 111448 et | sl | EeEE | RaEH
A I2|REK e 5L i 5 i 5 i 5L
A 13| B cm >100 >100 >100 >100
AEVERET B 1|pH 7.5 7.8 7.8 7.4
(KR °C) (23) (22) (16) (12)
B 2/DO mg/1 8.6 9.7 10 12
B 3|BOD mg/1 0.8 < 0.5 < 0.5 < 0.5
B 4|COD mg/1 1.6 1.4 1.3 0.9
B 5|SS mg/1 1 1 <1 <1
B 6| KIGHAEEK MPN/100m1 13, 000 1, 300 3, 500 330
B T|iREH mg/1 0.51 0.55 0.48 0. 47
B 8#U mg/1 0.012 0. 008 0. 009 0. 007
FEREE S 180010-31 | 180010-35 | 180010-41 | 180010-48
FHAEA H| SEER19A | RO | FRK194E
AR SOES 1A5H 2H6H 3H2A
BB (A KR ity ety ety
A 2| KfE 5 5 iS5
A 3|ERAKEEZ B4y 11:10 12:10 12:15
A APKAT m 0.61 0.56 0.56
A 6K m 0.81 0.75 0.75
A TBRAOKEE m 0.10 0.10 0.10
A 8IFIA C 4.8 16.6 20.5
A 9PKIE C 7.5 4.5 11.0
A 11448 et | Bl | RaEH
A 12| B& 5L fL=Y i 5L
A 13 cm >100 >100 >100
AVEBREE (B 1|pH 7.5 7.7 7.7
(KIE:°C) (11) (14) (15)
B 2|D0 mg/1 13 12 12
B 3|BOD mg/1 < 0.5 0.8 < 0.5
B 4|COD mg/1 1.1 1.1 1.2
B 5|SS mg/1 <1 <1 <1
B 6| RIGHEREE MPN/100m1 490 330 230
B TiRE#H mg/1 0.49 0. 47 0.62
B 8V mg/1 0. 007 0. 006 0. 008
RS S 180010-52 | 180010-59 | 180010-65




sy @R
FRAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1ISEE
FHExtg 1A 120 2H2H 3H8H 47 27H
BiIHOEE [A 1| ERKLE Pty Pty ity ity
A 2| RKfE 5 & 5 5
A 3BKEFH B4y 12:55 10:45 10:50 13:15
A AlKpr m 1. 11 1.15 1.28 1.23
A 6|k m 1.30 1.10 1.18 1.10
A TR m 0.10 0.10 0.10 0.10
A 8|XUR C 12.0 9.5 13.0 23.5
A 9PKIE C 5.6 7.8 9.8 15.5
A 11448 It | sl | EeE | RadEH
A I2|RK 5L i 5L i 5L i 5L
A 13|BHEE cm >100 >100 >100 >100
AEIEEREE (B 1|pH 7.6 7.5 7.4 7.5
(K¥E.:°C) 9) (13) (14) (17)
B 2[D0 mg/1 13 12 12 11
B 3[BOD mg/1 < 0.5 1.3 0.9 < 0.5
B 4|coDp mg/1 0.9 1.5 1.2 1.4
B 5/SS mg/1 <1 1 1 <1
B 6| KIGHAEEK MPN/100m1 240 490 790 1, 400
B 7T|#R#EH mg/1 0. 65 0.74 0.76 0. 65
B 8V mg/1 0. 009 0. 009 0.012 0.013
e HEC 1A KRITA mg/1 — - — —
C 2/(B®)vT v mg/1 — — — —
C 4| mg/1 — — — —
C 5|7 =L mg/1 — — — —
C 6/b# mg/1 — — — —
C  T|HKER mg/1 — — — —
C 8|7/ F/LkER mg/1 — — — —
C 9|pcB mg/1 — — — —
C 10|rYV BT L mg/1 — — — —
C 1|7 hT7Z7uvpuxFL v mg/1 — — — —
C 12|\t iRE mg/1 — — — —
C 13|¥7muaRrAHv mg/1 — — — —
C 14|l,2-v/7muxZ mg/1 — — — —
C 15/, ,1-pY =iy mg/1 — — — —
C 16|,1,2-rY Iy mg/1 — — — —
C 17]1,1-YZouxFL v mg/1 — — — —
C 18|vA-l,2-vZumu=FL v mg/1 — — — —
C 19|1,3-vyZ7murmo~X mg/1 — — — —
C 20[F 7T L mg/1 — — — —
C 21|y~ (CAT) mg/1 — - — —
C 2|FAX T mg/1 — — — —
C 23Ry Pr mg/1 — — — —
C 24|ELv mg/1 — — — —
C 25|7vFHE mg/1 — — — —
C 26 AKUHE mg/1 — — — —
PEXHEE (D 1| 7=/ — VA mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HESH mg/1 — < 0.004 — —
D 4\EfRESk mg/1 — — — —
D 5|EfRME~ mg/1 — — — —
D 6/(&)7uh mg/1 — — — —
D Sn—~FHh EWE mg/1 — — — —
Boaeit |E 1|7 UoE=THEESR mg/1 < 0.05 < 0.05 0. 10 < 0.05
E 2| HifHBEIERE R mg/1 — — — —
E  3|HMIEEFR mg/1 — — — —
HiEkEREE |F 5| MR R 1#,/100m1 500 74 140 35
F 23/ A 4 mg/1 14 14 13 11
JKERSE |H  8|2-MIB ng/1 — — — —
H 9/vAARIv ng/1 — — — —
H 18 kU o X & ke mg/1 — 0. 020 — —
FEREE S 17001044 | 170010-47 | 170010-52 | 180010-1




sy @R
FRAEA H| SEEKI8HE | ERKISH | ERKISHE | SEAKLISEE
FHExtg 5H9H 6H7H 7TH12H 8H2H
BB (A KR Pty ity Pty Pty
A 2| RKfE & i) & 5
A 3BKEFH B4y 13:30 12:35 14:00 14:10
A 4PKAT m 1.45 1.26 1.50 1.30
A 6|k m 0.85 0. 60 1.30 1.00
A TR m 0.10 0.10 0.10 0.10
A 8IFIA C 27.7 26.0 27.3 34.5
A 9KIR C 17.5 20.9 22.0 26.0
A 11448 It | sl | EeE | ReadEH
A I2|RK 5L i 5 i 5 i 5
A 13| B cm >100 >100 >100 >100
AVERET B 1|pH 7.5 7.7 7.3 7.5
(K¥E.:°C) (20) (24) (24) (26)
B 2/DO mg/1 10 10 9.5 9.0
B 3|BOD mg/1 < 0.5 < 0.5 0.8 0.7
B 4|COD mg/1 1.4 2.0 1.8 1.4
B 5|SS mg/1 2 1 2 <1
B 6| KIGHAEEK MPN/100m1 2, 800 2,200 4,900 7,900
B 7T|#R#EH mg/1 0.63 0.52 0. 59 0. 47
B 8V mg/1 0.011 0.017 0. 021 0. 021
B FEC I RITA mg/1 < 0.001 — — —
c 2/®>YTv mg/1 <0.1 — — —
C 48 mg/1 < 0.005 — — —
C 5|7 =L mg/1 < 0.005 — — —
C 6/b# mg/1 0. 002 — — —
C  T|HIKER mg/1 < 0. 0005 — — —
C 8|7/ LKER mg/1 < 0.0005 — — —
C 9|PCB mg/1 < 0.0005 — — —
C 10|rRYZmmzFL o mg/1 < 0.001 — — —
C 1|7+ 7apzFL v mg/1 < 0.001 — — —
C 12|VUHEfbiR=H mg/1 < 0.0002 — — —
C 13|¥rmuarHy mg/1 < 0.001 — — —
C 14|1,2-Y7oux i mg/1 < 0.0004 — — —
cC 15/, ,1-fNyZmmpx=H mg/1 < 0.001 — — —
C 16/1,1,2- Y Zmpxiy mg/1 < 0.0006 — — —
C 17|,1-YZ7uanzF L mg/1 < 0.001 — — —
C 18|vx-1,2-yZmanx=FL v mg/1 < 0.001 — — —
C 19|,3-Yr7umnru~y mg/1 < 0.0002 — — —
C 20[F 7T L mg/1 < 0.0006 — — < 0.0006
C 21|v=r (CAD) mg/1 < 0.0003 — — < 0.0003
C 22| F A hnT mg/1 < 0.001 — — < 0.001
C 23| ¥ mg/1 < 0.001 — — —
C 24/ELv mg/1 < 0.002 — — —
C 25|7vFHE mg/1 0.1 — — —
C 26|k H mg/1 < 0.1 — — —
Hk#E D 1| 7=/ —VH mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|#sh mg/1 < 0.003 — — 0.011
D AR mg/1 — — — —
D 5|IEfRME~ mg/1 — — — —
D 6/(D)rrAi mg/1 — — — —
D 8h—~FV HHEWE mg/1 — — — —
Boesit |[E 1|7 UE=THEESR mg/1 < 0.05 < 0.05 < 0.05 0. 06
AL R3S mg/1 0. 003 — — —
E  3hHlEREESR mg/1 0. 41 — — —
HERBRE |F 5| BWEMERGERE fi#/100m1 40 38 260 260
F 231 4 mg/ 1 12 11 11 11
JKIERSE |H  8|2-MIB ng/1 — — — <5
H 9vAAIv ng/1 — — — <5
H 18 kU o X & ke mg/1 0. 034 — — 0. 034
FEREE 180010-4 | 180010-14 | 180010-18 | 180010-22




sy @R
FRAEA H| SEEKI8HE | ERKISH | ERKISHE | SEAKLISEE
FHExtg 9H6H 10H5H 11A7H 12750
BB (A KR Pty ity Pty Pty
A 2 Rf ] £ i 2
A 3BKEFH B4y 11:50 12:05 12:40 12:40
A 4PKAT m 1.28 1.20 1. 11 1. 11
A 6|k m 0.70 1.07 1.30 1.30
A TR m 0.10 0.10 0.10 0.10
A 8|XUR C 22.1 24.3 14. 4 8.8
A 9PKIE C 22.0 19.8 14.5 8.5
A 11448 It | sl | EeE | ReadEH
A I2|RK 5L i 5 i 5 i 5
A 13| B cm >100 >100 >100 >100
AVERET B 1|pH 7.5 7.3 7.6 7.4
(K¥E.:°C) (23) (22) (16) (12)
B 2/DO mg/1 8.8 9.8 11 12
B 3|BOD mg/1 0.6 < 0.5 < 0.5 < 0.5
B 4|COD mg/1 1.4 1.5 1.5 1.2
B 5|SS mg/1 2 1 <1 <1
B 6| KIGHAEEK MPN/100m1 35, 000 3, 300 7,900 1, 700
B 7T|#R#EH mg/1 0. 54 0.55 0.55 0. 54
B 8V mg/1 0. 020 0.016 0.016 0.012
B FEC I RITA mg/1 — < 0.001 — —
c 2/®>YTv mg/1 — <0.1 — —
C 48 mg/1 — < 0.005 — —
C 5|7 =L mg/1 — < 0.005 — —
C 6/b# mg/1 — 0. 002 — —
C  T|HIKER mg/1 — < 0.0005 — —
C 8|7/ LKER mg/1 — < 0.0005 — —
C 9|PCB mg/1 — < 0.0005 — —
C 10/RYZma=FL > mg/1 — < 0.001 — —
C 1|7+ 7apzFL v mg/1 — < 0.001 — —
C 12|VUHEfbiR=H mg/1 — < 0.0002 — —
C 13|¥rmuarHy mg/1 — < 0.001 — —
C 14|1,2-Y7oux i mg/1 — < 0.0004 — —
cC 15/, ,1-fNyZmmpx=H mg/1 — < 0.001 — —
C 16/1,1,2- Y Zmpxiy mg/1 — < 0.0006 — —
C 17]1,1-YZpuxFL v mg/1 — < 0.001 — —
C 18|vx-1,2-yZmanx=FL v mg/1 — < 0.001 — —
C 19]1,3-YZmurFuy mg/1 — < 0.0002 — —
C 20[F 7T L mg/1 — — — —
C 21|y~ (CA) mg/1 — - — —
C 2|FA T mg/1 — — — —
C 23| ¥ mg/1 — < 0.001 — —
C 24/ELv mg/1 — < 0.002 — —
C 25|7vFHE mg/1 — 0.1 — —
C 26|k H mg/1 — < 0.1 — —
HEARHH (D 1| 7=/ —VE mg/1 — — < 0.05 —
D 2|4 mg/1 — — < 0.004 —
D 3|HESH mg/1 — — < 0.003 —
D AR mg/1 — — < 0.03 —
D 5~ T mg/1 — — < 0.005 —
D 6/(&)7nmAi mg/1 — — < 0.05 —
D 8h—~FV HHEWE mg/1 — — — —
Boesit |[E 1|7 UE=THEESR mg/1 < 0.05 < 0.05 < 0.05 < 0.05
AL R3S mg/1 — 0. 003 — —
E  3hHlEREESR mg/1 — 0.48 — —
HERBRE |F 5| BWEMERGERE fi#/100m1 1, 200 150 300 80
F 231 4 mg/ 1 12 11 12 12
JKIERSE |H  8|2-MIB ng/1 — — — —
H 9vAAIv ng/1 — — — —
H 18 kU o X & ke mg/1 — — 0. 040 —
FEREE 180010-31 | 180010-35 | 180010-41 | 180010-48




sy @R
FHAEA H| SEEKI9AE | RO | FRR194E
FHExtg 1A5H 2H6H 3H2H
BB (A KR Pty ity Pty
A 2| RKfE 5 i) 5
A 3| ERKIFH 4y 11:25 12:20 12:30
A 4PKAT m 1.08 1.03 1.04
A 6K m 1.27 1.20 1.20
A TR m 0.10 0.10 0.10
A 8|XUR C 7.5 15.7 22.9
A 9KIR C 8.0 9.5 10.5
A 11448 et | meEl | RasEH
A 12|RK i 5 i 5 i 5
A 13| B cm >100 >100 >100
AVERET B 1|pH 7.3 7.6 7.6
(K¥E.:°C) (10) (14) (15)
B 2/DO mg/1 13 13 12
B 3|BOD mg/1 < 0.5 0.7 < 0.5
B 4|COD mg/1 1.0 1.3 1.4
B 5|SS mg/1 <1 <1 1
B 6| KIGHAEEK MPN/100m1 170 790 230
B 7T|#R#EH mg/1 0.58 0.52 0. 60
B 8V mg/1 0.013 0.012 0.011
fidt B (|C 1| RIT A mg/1 - - —
C 2/(B)vT v mg/1 — — —
C 48 mg/1 — — —
C 5|7 =L mg/1 — — —
C 6/b# mg/1 — — —
C  T|HKER mg/1 — — —
C 8|7/ F/LkER mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 hZ7Z7upxFLv mg/1 — — —
C 12|\t iRE mg/1 — — —
C 13|¥r7muRrAHv mg/1 — — —
C 4|l,2-v/7ouxZy mg/1 — — —
C 15/, ,1-pY =iy mg/1 — — —
C 16/,1,2-rY Iz mg/1 — — —
C 17|,1-YZ7uanzF L mg/1 — — —
C 18|vA-l,2-YZumu=FL v mg/1 — — —
C 19|1,3-vyZ7murm~Xr mg/1 — — —
C 20[F 7T L mg/1 — — —
C 21|~ (CAT) mg/1 — - —
C 2|FA T mg/1 — — —
C 23| ¥ mg/1 — — —
C 24|V mg/1 — — —
C 25|7vFHE mg/1 — — —
C 26| UFHE mg/1 — — —
Hk#E D 1| 7=/ —VH mg/1 — — —
D 2|4 mg/1 — — —
D 3|#igh mg/1 — 0. 003 —
D AR mg/1 — — —
D 5|IEfRME~ mg/1 — — —
D 6/(D)rrAi mg/1 — — —
D 8in—~FY U HHmE mg/1 — — —
Boesit |[E 1|7 UE=THEESR mg/1 < 0.05 < 0.05 < 0.05
AL R3S mg/1 - — —
E  3hHlEREESR mg/1 — — —
HEREREE |F 5| 3EMEMERIGRE L fi&l/100m1 34 120 64
F 231 4 mg/1 11 15 12
JKIERSE |H  8|2-MIB ng/1 — — —
H 9vAAIv ng/1 — — —
H 18 kU o X & ke mg/1 — 0. 027 —
FEREE 180010-52 | 180010-59 | 180010-65




PR R B
FHAEA H| SEEKI8HE | SERKISHE | SERKISHE | SEAK1ISEE
FHEXG 1A11H 1A 120 1A 120 1A 120
BIHOEE A 1| ERKLE ety it ity it
A 2| KfE 5 5 5 75
A 3|ERAKEEZ B4y 17:56 0:40 6:23 12:55
A AlKAT m 1.12 1.12 1.12 1. 11
A 114481 sl | mesEl | EAE | RaEH
A 13)BHEE cm >100 >100 >100 >100
FRAEA H| SEEKI8HE | CERKISHE | ERKISHE | SEAK1ISEE
HEXS 2H1H 2H2H 2H2H 2H2H
BIHOEE A 1| ERK(LE ety ity it it
A 2| KfE = = 75 =
A 3EKIEH B4y 17:38 0:19 6:03 10:45
A AlKAT m 1.14 1.16 1.16 1.15
A 114481 sl | meaEl | EAE | RaEH
A 13)BHEE cm >100 >100 >100 >100
FRAEA H| SEEKI8HE | ERKISHE | ERKISHE | SFEAK1ISEE
HEXS 3HTH 3H8H 3H8H 3H8H
BiHOEE A 1| ERKLE ety ity ity ity
A 2| KfE 75 75 75 75
A 3EKIEH B4y 17:05 0:40 6:38 10:50
A AlKAT m 1.28 1.28 1.28 1.28
A 11448 sl | sl | EAEl | RaEH
A 13|BHLEE cm >100 >100 >100 >100
FHAEA H| SEEKI8HE | ERKISHE | SEAKISH: | SEAK1ISEE
FHExtg 4726 H 47 27H 47 27H 47 27H
BiHOEE A 1| ERKLE it it it it
A 2| KfE & 5§ & 75
A 3BKIFH B4y 18:40 0:53 6:49 13:15
A AlKAE m 1.31 1.31 1.31 1.15
A 11408 fsEl] | mEeaEl | EeEl | RaAEH
A 13|BEE cm >100 >100 >100 >100
FHAEA H| SEEKISHE | CERKISH | SEAKISHE | SFEAK1ISEE
&%t 5H8H 5H9H 5H9H 5H9H
BIHOEE A 1| ERKNLE ity ity it ity
A 2| KfE E 75 75 75
A 3|ERAKEEZ B4y 18:33 0:40 6:05 13:30
A AlKAE m 1.50 1. 50 1.45 1.45
A 11408 el | el | eS| RaEH
A 13|BLEE cm >100 >100 >100 >100
FRAEA H| SEEKI8HE | CERKISHE | SERKISHE | SEAK1ISEE
2%t 6H6H 6H7H 6H7H 6H7H
BiHOEE A 1| ERKLE ity ety it ety
A 2| KfE 75 5] & 75
A 3|ERAKEEZ B4y 18:25 0:45 6:14 12:35
A AlKAT m 1.29 1.29 1.28 1.26
A 114481 sl | el | eS| RaEH
A 13|BEE cm >100 >100 >100 >100




PR R B
FRAEA H| SEEKI8HE | SERKISHE | ERKISHE | SEAK1ISE
FHExtg 7TH11H 7TH12H 7TH12H 7TH12H
BIHOEE A 1| ERKLE ety ity et it
A 2] KfE = = = =
A 3|ERAKEEZ B4y 18:30 1:00 6:16 14:00
A AlKAT m 1.50 1.56 1. 50 1. 50
A 114481 faEl] | sl | EAE | RaEH
A 13)BHLEE cm >100 >100 >100 >100
FRAEA H| SEEKI8HE | CERKISHE | SERKISH | SEAK1ISEE
HEXS 8H1H 8H1H 8H2H 8H2H
BiHOEE A 1| ERK(LE ety it it it
A 2| KfE 5 55 75 75
A 3BKIFH B4y 18:00 23:55 6:00 14:10
A AlKAE m 1.28 1.28 1.28 1. 30
A 114481 sl | meaEl | EAE | EaEH
A 13)BHEE cm >100 >100 >100 >100
FHAEA H| SEEKI8HE | CERKISHE | SERKISHE | SEAKLISEE
HES 9H5H 9H6H 9H6H 9H6H
BiHOEE |A 1| ERKLE ety ity it it
A 2| KfE 75 75 5§ 5§
A 3BKIEH B4y 17:12 0:00 5:51 11:50
A AlKAE m 1.23 1.23 1.23 1.28
A 11448 fsEl] | mEesEl | EAaEH | RaEH
A 13|BHEE cm >100 >100 >100 >100
FHAEA H| SEEKI8HE | CERKISHE | SERKISHE | SEAK1ISEE
FHExtg 107 4H 10A5H 10A5H 10A5H
BiHOEE A 1| ERKLE ety it it it
A 2| KfE = = = =
A 3|ERAKEEZ B4y 18:20 0:10 6:00 12:05
A AlKAT m 1.18 1. 20 1. 20 1. 20
A 114081 el | mEeEsEl | eS| RaAEH
A 13|BHEE cm >100 >100 >100 >100
FHAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1I8E
FHEXg 1176H 11A7H 11A7H 11A7H
BIHOEE A 1| ERKLE ety ety ity it
A 2| K 5 = = I
A 3|ERAKEEZ B4y 18:00 0:00 6:10 12:40
A AlKAE m 1.14 1. 11 1. 11 1. 11
A 114481 el | el | EaEl | RaEH
A 13|BEE cm >100 >100 >100 >100
FRAEA H| SEEKI8HE | CERKISHE | SERKISHE | SEAK1ISEE
FHExg 12H4H 12H5H 12A5H 12A5H
BiHOEE A 1| ERKLE ity ity ity it
A 2| KfE 75 i i =
A 3EKIFH B4y 18:55 0:59 6:00 12:40
A AlKAT m 1.11 1. 11 1. 11 1. 11
A 114481 el | mEesEl | eS| RaEH
A 13)BEE cm >100 >100 >100 >100




s @R GBI
FRAEA H| SEEKI9AE | ERKI9E | SERRI9E | SEARL9E
HES 1740 1740 1A5H 1A5H
BIHOEE A 1| ERKLE ety it it it
A 2| KA i} i} 5] 5]
A 3|ERAKEEZ B4y 18:30 23:50 6:15 11:25
A AlKAT m 1.08 1.08 1.08 1.08
A 114481 sl | mesEl | EAE | RaEH
A 13|BHLEE cm >100 >100 >100 >100
FRAAEA H| SEEKL19AE | SRR | SERRI9E | SEARL9E
HEXS 2H5H 2H6H 2H6H 2H6H
BIHOEE A 1| ERK(LE et it it it
A 2| K 5] 5] 5] 5]
A 3BKIFH B4y 18:10 0:30 6:10 12:20
A AlKAE m 1.05 1.03 1.03 1.03
A 114481 sl | sl | EAE | EaEH
A 13)BHLEE cm >100 >100 >100 >100
FRAEA H| SEEKL19AE | ORI | SERRI9E | SEARL9E
HES 3H1A 3H2H 3H2H 3H2H
BiHOEE A 1| ERKLE ety ity it it
A 2| K 5] i} i} i}
A 3BKIEH B4y 18:20 0:01 6:23 12:30
A AlKAE m 1.04 1.05 1. 05 1. 04
A 11448 sl | sl | EAaE | RaEH
A 13|BHEE cm >100 >100 >100 >100




B |

FRAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1ISEE
FHExtg 1A 120 2H2H 3H8H 47 27H
BB (A L EKAE ety ety ety ety
A 2| KfE 5 & 5 iS5
A 3|ERAKEEZ B4y 13:20 11:07 10:30 13:45
A 4PKAT m 0.24 0.26 0.38 0.42
A 6|k m 1.70 2.30 1.62 1.90
A T BRAOKEE m 0.10 0.10 0.10 0.10
A 8|XUR C 12.9 9.5 12.9 24.0
A 9PKIE C 6.5 9.3 10.8 15.0
A 11448 et | sl | EaEl | RaEH
A I2|REK i 5L i 5 i 5 i 5L
A 13| B cm >100 >100 >100 >100
AEVERET B 1|pH 7.8 7.8 7.5 7.6
(KR °C) (10) (14) (15) (17)
B 2/DO mg/1 13 12 11 11
B 3|BOD mg/1 < 0.5 < 0.5 < 0.5 0.5
B 4|COD mg/1 1.2 1.4 1.4 1.4
B 5|SS mg/1 <1 <1 2 1
B 6| KIGHAEEK MPN/100m1 23 1, 100 330 230
B T|iREH mg/1 0.55 0. 66 0. 66 0.67
B 8#U mg/1 0. 008 0. 008 0.011 0.011
e HEC 1A KRITA mg/1 _ — — —
cC 2/(®)vTv mg/1 — — — —
C 4\%n mg/1 — — — —
C 57 =L mg/1 — — — —
C 6/b# mg/1 — — — —
C  T|#IKER mg/1 — — — —
C 8|7/ F/LKEE mg/1 — — — —
C 9|PCB mg/1 — — — —
C 10|rV 7o TF LV mg/1 — — — —
C 1|7 hZ7Z7uvpxFlLv mg/1 — — — —
C 12|\HEfbiRE mg/1 — — — —
C 13|¥7up Xy mg/1 — — — —
C l4|l,2-Y7unxHy mg/1 — — — —
C 15,1, 1-pY =iy mg/1 — — — —
C 16]1,1,2-rV X mg/1 — — — —
cC 17|1,1-¥ZmuxFL v mg/1 — — — —
C 18|v*A-1,2-YZupxFL mg/1 — — — —
C 19|1,3-vZ7murmo~Xr mg/1 — — — —
C 20[F 7T L mg/1 — — — —
C 21|~ (CAT) mg/1 — — — —
C 2|74 HNT mg/1 — — — —
C 23| ¥r mg/1 — — — —
C 24ELv mg/1 — — — —
C 25|7vFHE mg/1 — — — —
C 26|FKUHE mg/1 — — — —
PEAHE (D 1|7/ —/L¥E mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HESH mg/1 — < 0.004 — —
D A4\ VEfRMERR mg/1 — — — —
D 5|EfRME~ mg/1 — — — —
D 6/(D)rrAi mg/1 — — — —
BoEl |E 2 MinyEsReE R mg/1 — — — —
E  3|HMEIEE R mg/1 — — — —
FEFEE S 17001044 | 170010-47 | 170010-52 | 180010-1




lgaams: R
FRAEA H| SEEKI8HE | ERKISH | ERKISHE | SEAKLISEE
FHExtg 5H9H 6H7H 7TH12H 8H2H
BB (A L EKAE ety ety ety ety
A 2| KfE & 5] & 75
A 3|ERAKEEZ B4y 13:25 12:52 14:15 14:40
A 4PKAT m 0.53 0.45 0.58 0.42
A 6|k m 2.80 1.80 2. 10 1.70
A T BRAOKEE m 0.10 0.10 0.10 0.10
A 8|XUR C 27.0 27.0 27.3 34.5
A 9PKIR C 17.8 21.6 21.5 27.5
A 11448 et | sl | EeEE | RaEH
A I2|REK e 5L i 5 i 5 i 5L
A 13| B cm >100 >100 >100 >100
AEVERET B 1|pH 7.8 7.9 7.4 8.0
(KR °C) (20) (23) (23) (26)
B 2/DO mg/1 10 9.6 9.3 8.8
B 3|BOD mg/1 1.1 0.8 0.6 0.8
B 4|COD mg/1 1.7 1.8 1.8 1.5
B 5|SS mg/1 2 2 2 <1
B 6| KIGHAEEK MPN/100m1 1, 700 1, 300 7,900 3, 300
B T|iREH mg/1 0.59 0.55 0. 50 0. 44
B 8#U mg/1 0.011 0.017 0.018 0.018
B FE|C I RITA mg/1 < 0.001 — — —
c 2/®>vTv mg/1 < 0.1 — — —
C 48 mg/1 < 0.005 — — —
C 5|7 =L mg/1 < 0.005 — — —
C 6/e# mg/1 0. 002 - — —
C  THIKER mg/1 < 0. 0005 — — —
C 8|7 /FNIKER mg/1 < 0.0005 — — —
C 9|PCB mg/1 < 0.0005 — — —
C 10|rRYZomzFL o mg/1 < 0.001 — — —
R VA N/ = B = I M mg/1 < 0.001 — — —
C 12|VuiEfbiR=H mg/1 < 0.0002 — — —
C 13|¥rmuriy mg/1 < 0.001 — — —
C 4|,2-Yr7muxiy mg/1 < 0.0004 — — —
cC 15/, ,1-hNyZmmpxX mg/1 < 0.001 — — —
C 16/1,1,2- Y rmpxgy mg/1 < 0.0006 — — —
C 17|,1-Y7anzF L mg/1 < 0.001 — — —
C 18|vx-l,2-yZmanzFL v mg/1 < 0.001 — — —
C 19|,3-Yr7mnrr~y mg/1 < 0.0002 — — —
C 201F 75 A mg/1 < 0.0006 — — < 0.0006
C 21|v=r (CAD) mg/1 < 0.0003 — — < 0.0003
C 2| FA_hn mg/1 < 0.001 — — < 0.001
C 23| ¥ mg/1 < 0.001 — — —
C 24|V mg/1 < 0.002 — — —
C 257 v mg/1 0.1 — — —
C 26|FKUHE mg/1 < 0.1 — — —
PEAHEH D 1|7/ —L¥E mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HEE£H mg/1 < 0.003 — — < 0.003
D A\ VEfRMERR mg/1 — — — —
D 5|EfRME~ T mg/1 — — — —
D 6/(D)rrAi mg/1 — — — —
H#E |E 2|dinyeteEE mg/1 0. 002 — — -
E  3|HMEHEE R mg/1 0.39 — — —
FEFEE S 180010-4 | 180010-14 | 180010-18 | 180010-22




lgaams: R
FRAEA H| SEEKI8HE | ERKISH | ERKISHE | SEAKLISEE
FHExtg 9H6H 10H5H 11A7H 12750
BB (A L EKAE ety ety ety ety
A 2[Rk i 2 i 2
A 3|ERAKEEZ B4y 12:10 12:30 13:00 13:00
A 4PKAT m 0.38 0.35 0.29 0.28
A 6|k m 1.88 1.85 2.33 1.52
A T BRAOKEE m 0.10 0.10 0.10 0.10
A 8|XUR C 22.6 26.3 13.5 10.9
A 9PKIR C 23.2 21. 4 15.0 9.1
A 11448 et | sl | EeEE | RaEH
A I2|REK e 5L i 5 i 5 i 5L
A 13| B cm >100 >100 >100 >100
AEVERET B 1|pH 7.6 7.9 7.8 7.5
(KR °C) (23) (22) (16) (12)
B 2/DO mg/1 8.6 9.5 11 12
B 3|BOD mg/1 1.3 < 0.5 < 0.5 < 0.5
B 4|COD mg/1 1.9 1.5 1.7 1.1
B 5|SS mg/1 2 <1 <1 <1
B 6| KIGHAEEK MPN/100m1 22, 000 490 3, 500 460
B T|iREH mg/1 0.53 0. 48 0. 54 0. 49
B 8#U mg/1 0.018 0.013 0.014 0.011
B FE|C I RITA mg/1 — < 0.001 — —
c 2/®>vTv mg/1 — < 0.1 — —
C 46 mg/1 — < 0.005 — —
C 5|7 =L mg/1 — < 0.005 — —
C 6/b# mg/1 — 0. 002 — —
C  THIKER mg/1 — < 0. 0005 — —
C 8|7/ LKER mg/1 — < 0.0005 — —
C 9|PCB mg/1 — < 0.0005 — —
C 10|rRYZomzFL o mg/1 — < 0.001 — —
R VA N/ = B = I M mg/1 — < 0.001 — —
C 12|t iRE mg/1 — < 0.0002 — -
C 13|¥rmuriy mg/1 — < 0.001 — —
C 4|,2-Yr7muxiy mg/1 — < 0.0004 — —
cC 15/, ,1-hNyZmmpxX mg/1 — < 0.001 — —
C 16/1,1,2- Y rmpxgy mg/1 — < 0.0006 — —
cC 17]1,1-¥ZmuxFL v mg/1 — < 0.001 — —
C 18|vx-l,2-yZmanzFL v mg/1 — < 0.001 — —
C 19]1,3-YZ7muruyr mg/1 — < 0.0002 — —
C 20[F 7T L mg/1 — — — —
C 21|~ (CAT) mg/1 — — — —
C 2|FAHNT mg/1 — — — —
C 23| ¥ mg/1 — < 0.001 — —
C 24ELv mg/1 — < 0.002 — —
C 25|73 mg/1 — < 0.1 — —
C 26|FKUHE mg/1 — < 0.1 — —
HEARHS (D 1| 7=/ —VE mg/1 — — < 0.05 —
D 24 mg/1 — — < 0.004 —
D 3|HESH mg/1 — — < 0.003 —
D A\ VEfRMERR mg/1 — — < 0.03 —
D 5|¥EfRME~ T mg/1 — — < 0.005 —
D 6/(&)7nrAi mg/1 — — < 0.05 —
BHAEL |E 2| dALELREEE mg/1 — 0. 003 — -
E  3fEfeREESR mg/1 — 0.35 — —
FEFEE S 180010-31 | 180010-35 | 180010-41 | 180010-48




lgaams: R
FHAEA H| SEEKI9AE | RO | FRR194E
FHExtg 1A5H 2H6H 3H2H
BB (A L EKAE ety ety ety
A 2| KfE 5] 5] 5]
A 3|ERAKEEZ B4y 11:45 12:50 12:50
A 4PKAT m 0.26 0.23 0.25
A 6K m 1.50 1.50 1.50
A T BRAOKEE m 0.10 0.10 0.10
A 8|XUR C 6.2 17.7 18.6
A 9PKIR C 8.5 8.2 11.5
A 11448 et | mEEl | EaEH
A 12| BE i 5 i 5 i 5
A 13| B cm >100 >100 >100
AEVERET B 1|pH 7.6 7.7 7.6
(KR °C) (11) (14) (15)
B 2/DO mg/1 13 13 13
B 3|BOD mg/1 < 0.5 0.8 < 0.5
B 4|COD mg/1 1.2 1.0 1.4
B 5|SS mg/1 <1 <1 <1
B 6| KIGHAEEK MPN/100m1 110 330 79
B T|iREH mg/1 0.55 0.43 0.57
B 8#U mg/1 0.011 0. 007 0.010
e FlC 1|ZFIUA mg/1 — — —
cC 2/(®)vTv mg/1 — — —
C 48 mg/1 — — —
C 5|7 =L mg/1 — — —
C 6/b#HE mg/1 — — —
C  T|#IKER mg/1 — — —
C 8|7/ F/LKkER mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 r7Z7upxFLv mg/1 — — —
C 12|t iRE mg/1 — — —
C 13|¥7up Xy mg/1 — — —
C l4|l,2-Y7upnxHy mg/1 — — —
C 15(1,1,1-frY 7> H mg/1 — — —
C 16[1,1,2-rV X mg/1 — — —
C 17|,1-Y7anzF L mg/1 — — —
C 18|v*A-1,2-YZupxFL mg/1 — — —
C 19|1,3-vZ7murmo~Xr mg/1 — — —
C 201F 75 A mg/1 — — —
C 21|~ (CAT) mg/1 — - -
C 2|FAHNT mg/1 — — —
C 23| ¥ mg/1 — — —
C 24|V mg/1 — — —
C 25|7 v mg/1 — — —
C 26|KUFHE mg/1 — — —
HEAKEH D 1| 7=/ — V8 mg/1 - - -
D 2|4 mg/1 — — —
D 3|HESH mg/1 — < 0.003 —
D A\ VEfRMERR mg/1 — — —
D 5\EfRME~ T mg/1 — — —
D 6/(D)rrAi mg/1 — — —
BEl |E 2 MinyEsReER mg/1 — — —
E  3|HMEHEE R mg/1 — — —
FEFEE S 180010-52 | 180010-59 | 180010-65




T
HAEEH A R 184
LALLA 1H12A 1H12A
RS OE (18:00) (0:00) (6:00)
HUHLER (A 1[BKRATE EfE e e
A 2| RfE B B H
A 3K AN 17:30 0:14 5:58
NRERA m -0. 04 -0. 04 -0. 04
A 6K m 0. 46 0.46 0.46
A TIERAKOKEE m 0.10 0.10 0.10
A 8/&IA C 6.2 0.2 -1.2
A 9|/KIR C 7.2 6.4 5.4
A 115081 gy | EEFEY | BEFEY
A 12/ B&E 5L e 5L 5L
A 13)BELAE cm >100 >100 >100
AEVEEREE (B 1|pH 8.2 8.3 8.4
OKIR:C) (10) (12) (10)
B 2|D0O mg/1 14 14 14
B 3|BOD mg/1 < 0.5 < 0.5 0.5
B 4|coD mg/1 — — —
B 5/SS mg/1 <1 <1 <1
B 6| KIGERE MPN/100m1 33 49 33
B TR=ER mg/1 — — —
B 8}V mg/1 — — —
e FlC 1|FHFIULA mg/1 — — —
C 2|(®vT7v mg/1 — — —
C 4|6n mg/1 — — —
C  5|AMHZ a2 L mg/1 — — —
C 6|lt# mg/1 — — —
C  THIKER mg/1 — - -
C 8|7 /LF/LKEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 roZupxFL v mg/1 — — —
C 12|UEAfiRE mg/1 — — —
C 13|¥7nmuaRrB mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU v H mg/1 — — —
C 17|1,1-YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-vZ7ouro~Xy mg/1 — — —
C 20/F 75 A mg/1 — — —
C 21|v =2 (CAT) mg/1 — — —
C 22|/ FAANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
BEAKRHH] (D 1|7/ — 1V mg/1 — — —
D 2|4 mg/1 — — —
D 3|HESh mg/1 — — —
D A\VEfRIEER mg/1 — — —
D 5|~ mg/1 — — —
D 6|(£) i mg/1 — — —
D 8h—~FVhiimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 — — —
E  2|WmBEER mg/1 — — —
E  3|iHERREER mg/1 — — —
E 4/ fpREEEFE (ON) mg/1 — — —
E 9|4/ HUERREY mg/1 — — —
HUERBRES |F 2)VBF B — — —
F  3|EER mS/m — — —
F 5|3 MERIGEREER fi#/100m1 — — —
F 233 A A4 mg/1 — — —
BHEEA 7 1 RL A mg/1 — — —
7 x ) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
cKZ v A-1,2-V7upnxF L mg/1 — — —




T
WAEFH B k184
1H11H 1H12H 1H12H
FHEXIS (18:00) (0:00) (6:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

Tt Zupk RY v mg/1 — — —

1, 4-VAFV mg/1 — — —
oINS mg/1 — — —
A mg/l — — _
AERSE [H  8]2-MIB ng/1 — — —
H 9/VARAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FhaRE i E 5 170010-44




T
HAEEH A ok
1H12A 2A1H 2A1H
FHExts (18:00) (0:00)
BB (A 1[BKRATE R = e
A 2| K ki = E
A 3| ERKIEH B4y 13:40 17:13 23:45
NRERA m -0. 04 -0. 02 0. 00
A 6K m 0. 46 0.48 0.50
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 10. 4 9.2 7.3
A 9PKIR C 7.4 11.0 10.0
A 115081 gl | BEFEY | KEFEY
A 12| B 5L e 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 7.9 8.1 8.1
OKIR:C) (10) (17 (16)
B 2|D0O mg/1 14 13 12
B 3|BOD mg/1 0.9 < 0.5 0.6
B 4|coD mg/1 1.3 — —
B 5/SS mg/1 <1 1 1
B 6| KIGERE MPN/100m1 23 240 540
B T#R#ESR mg/1 0.55 — —
B 8l#U v mg/1 0. 006 — —
e FlC 1|HFIUA mg/1 — — —
C 2|(®>vT7v mg/1 — — —
C 4\6h mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-YZ7mouro~Xr mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D A\VEfRMEER mg/1 — — —
D 5|~ mg/1 — — —
D 6/(£) i mg/1 — — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 — —
E  2|WmBEER mg/1 0. 002 — —
E  3|HERREER mg/1 0. 39 — —
E 4/ G#EZEFE (ON) mg/1 0.2 — —
E 9|4/ HUERREY mg/1 0. 005 — —
HOERBRES |F 2)VBE E 0.6 — —
F  3EER mS/m 8.0 — —
F 5|3 MERIGEREER fi#/100m1 28 — —
F 23|14 mg/1 14 — —
BREEA 7 1 RL A mg/1 — — —
7 x /) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B gk
1H12R8 2A1H 2A1H
FHExts (18:00) (0:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

ol /8= B Bl N BN mg/1 — — —

1, 4-VAFV mg/1 — — —

v IV mg/1 — — —
A mg/l — — _
JKERSE |H  8|2-MIB ng/1 — —
H 9/vAAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FFEREVIE S 1700




T
TRAAE A B 184
2H2H 2H2H
FESE S (6:00)
BB (A 1[BKRATE e e
A 2| RfE H =
A 3| ERKIEH B4y 5:40 11:24
A 4|KNT m 0. 00 -0.01
A 6K m 0.50 0.49
A TIERAOKEE m 0.10 0.10
A 8/&IA C 3.5 9.7
A 9PKIR C 9.4 9.7
A 11448 Bl | EEFEY
A 12| B i 5L 5L
A 13|iBHE cm >100 >100
AETRBREE (B 1|pH 8.1 7.7
OKIR:C) (17) (13)
B 2|D0 mg/1 12 13
B 3|BOD mg/1 0.9 < 0.5
B 4|COD mg/1 — 1.5
B 5|SS mg/1 1 1
B 6| KIGERE MPN/100m1 350 220
B T#R#ESR mg/1 — 0.65
B 8l#U v mg/1 — 0. 009
fidt B |C 1| FITUA mg/1 - -
C 2&®v7rv mg/1 — —
C 4\6h mg/1 — —
C  5|AMY a2 L mg/1 — —
cC 6|lv# mg/1 — —
C  TIakeE mg/1 — —
C 8|7 /LFILKER mg/1 — —
C 9|PCB mg/1 — —
C 10/pVZmru=F LYV mg/1 — —
C N7 r77vppF L mg/1 — —
C 12|UEfbiRE mg/1 — —
C 13|¥7muaRrH mg/1 — —
C l4|,2-Y7vpxX mg/1 — —
C 15/, ,1-hU v H mg/1 — —
C 16/1,,2-hU 7 mp=xH mg/1 — —
C 17|1,1-¥YZ/mpnxFL mg/1 — —
C 18| %-1,2/mmxFL mg/1 — —
C 19|1,3-YZ7mouro~Xr mg/1 — —
C 20/F%7 5 A mg/1 — —
C 21|y~ (CAT) mg/1 — —
C 2)/FF_ LT mg/1 — —
c 23| ¥ mg/1 — —
C 24lELv mg/1 — —
C 25|73 mg/1 — —
C 26|k mg/1 — —
Hek#E (D 1|7/ — 08 mg/1 — —
D 2|8 mg/1 — —
D  3|dfigh mg/1 — < 0.004
D A\VEfRMEER mg/1 — —
D 5\fRE~ T mg/1 — —
D 6/(£) i mg/1 — —
D 8n—~FHVHmE mg/1 — —
FXENL |E |7 oE=THEES mg/1 — < 0.05
E  2|WmBEER mg/1 — 0. 005
E  3|HERREER mg/1 — 0.53
E  4|HHEZEFE ON) mg/1 — 0.1
E 9|4/ HUERREY mg/1 — 0. 004
HOERBRES |F 2)VBE B — 0.9
F  3EER mS/m — 7.8
F 5|3 MERIGEREER fi#/100m1 — 42
F_ 23 A A4 mg/1 — 13
BREEA 7 1 RL A mg/1 — —
7 x /) —) mg/1 — —
HRALLTLVFE R mg/1 — —
rKZ o A-1,2-V7unpnxF L mg/1 — —




PR HA TS
PRAAE A B |184F
2A2H 2A2H
FESE S (6:00)

L2-Yr7unru/sNy mg/1 - -
p-Yr o~y mg/1 - -
A ¥ FF mg/1 — —
ATV mg/1 — —
Jrx=huFFr mg/1 — —
A TaFAT mg/1 — —
v Ul mg/1 — —
rsuouXo=)L mg/1 — —
ZaIYIFR mg/1 — —
EPN mg/1 — —
U a LR A mg/1 — —
T ) THNT mg/1 — —
A FaRR A mg/1 — —

G 16|77 /L= kL7 x> (CNP) mg/1 — —
|\ mg/1 — —
XLy mg/1 — —
T ANV =T )~ F L mg/1 — —
=) mg/1 — —
T TTV mg/1 — —
TUTEY mg/1 — —
EhE = LE ) v — mg/1 — —
ol /8= B Bl N BN mg/1 — —
1, 4-VAFV mg/1 — —
AV IV mg/1 — —
7 mg/1 — —

JKERSE |H  8|2-MIB ng/1 —
H 9/VARAIV ng/1 — —
H 18~ U a2 ¥ L Epkke mg/1 — 0.018
FFEREVIE S 0-47




T
HAEEH A R 184
3ATH 3H8H 3H8H
FRSOE (18:00) (0:00) (6:00)
BB (A 1[BKRATE EfE T e
A 2| RfE B B i
A 3| ERKIEH AN 17:59 0:14 6:08
NRERA m 0.16 0.16 0.16
A 6K m 0. 66 0.66 0.66
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 12.7 6.4 5.5
A 9|/KIR C 11.3 10. 2 9.5
A 115081 gl | EEFEY | EREFEY
A 12| B i 5L 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 8.0 7.8 7.7
OKIR:C) (16) (17) (16)
B 2|D0O mg/1 12 12 12
B 3|BOD mg/1 1.2 1.1 1.4
B 4|coD mg/1 — — —
B 5/SS mg/1 2 2 2
B 6| KIGERE MPN/100m1 79 170 70
B TR=ESR mg/1 — — —
B 8}V mg/1 — — —
e FlC 1|HFIUA mg/1 — — —
C 2|(®>vT7v mg/1 — — —
C 4\6h mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-YZ7mouro~Xr mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D A\VEfRMEER mg/1 — — —
D 5|~ mg/1 — — —
D 6/(£) i mg/1 — — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 — — —
E  2|WmBEER mg/1 — — —
E  3|HERREER mg/1 — — —
E 4 fpREEEFE (ON) mg/1 — — —
E 9|4/ HUERREY mg/1 — — —
HOERBRES |F 2)VBE B — — —
F  3|EER mS/m — — —
F 5|3 MERIGEREER fi#/100m1 — — —
F_ 23 A A4 mg/1 — — —
BREEA 7 1 RL A mg/1 — — —
7 x /) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B k184
3ATH 3A8H 3A8H
FHEXIS (18:00) (0:00) (6:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

Tt Zupk RY v mg/1 — — —

1, 4-VAFV mg/1 — — —
oINS mg/1 — — —
A mg/l — — _
AERSE [H  8]2-MIB ng/1 — — —
H 9/VARAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FhaRE i E 5 170010-52




T
HAEEH A Tk
3HA8H 45 26H 4H27H
FHExts (18:00) (0:00)
BB (A 1[BKRATE EfE e o
A 2| RE H = 55
A 3Bk B4y 10:00 18:10 0:21
NRERA m 0.18 0.18 0.18
A 6K m 0. 68 0.68 0.68
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 12.8 13.5 11.0
A 9PKIR C 10. 4 12. 4 12. 4
A 115081 gl | BEFEY | EEFEY
A 12| B i 5L 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 7.4 7.4 7.3
OKIR:C) (15) (18) (18)
B 2|D0O mg/1 12 11 10
B 3|BOD mg/1 0.7 < 0.5 < 0.5
B 4|coD mg/1 1.5 — —
B 5/SS mg/1 2 1 <1
B 6| KIGERE MPN/100m1 330 220 2, 200
B T#R#ESR mg/1 0.68 — —
B 8l#U v mg/1 0.010 — —
fk FlC 1|HFIUA mg/1 — — —
C 2&®v7rv mg/1 — — —
C 48 mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  TIakeE mg/1 — — —
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 100NV ZoEZFL mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-y7uouxH mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19/,3-Y7unrra~r mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
Hek#E (D 1|7/ — 08 mg/1 — — —
D 24 mg/1 — — —
D 3|#gh mg/1 — — —
D A\VEfRMEER mg/1 — — —
D 5\fRE~ T mg/1 — — —
D 6/(&)7nmh mg/1 — — —
D 8hn—~FVHHEHE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 — —
E  2|WmBEER mg/1 0.003 — —
E  3|HERREER mg/1 0. 56 — —
E 4/ G#EZEFE (ON) mg/1 0.1 — —
E 9|4/ HUERREY mg/1 0. 004 — —
HOERBRES |F 2)VBE E 1.2 — —
F  3EER mS/m 7.5 — —
F 5|3 MERIGEREER fi#/100m1 31 — —
F 23|14 mg/1 14 — —
BREEA 7 1 RL A mg/1 — — —
Tz ) —)b mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B gk
3A8H 4H26H 4727H
FHExts (18:00) (0:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

ol /8= B Bl N BN mg/1 — — —

1, 4-VAFV mg/1 — — —

v IV mg/1 — — —
A mg/l — — _
JKERSE |H  8|2-MIB ng/1 — —
H 9/vAAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FFEREVIE S 1800




T
TRAAE A B 184
4727H 4727H
FESE S (6:00)
BB (A 1[BKRATE e e
A 2| RfE = i
A 3| ERKIEH B4y 6:18 14:00
A 4|KNT m 0. 19 0. 20
A 6K m 0.69 0.70
A TIERAOKEE m 0.10 0.10
A 8/&IA C 12.0 24.0
A 9PKIR C 12.0 15.6
A 11448 Bl | EEFEY
A 12| B 5L 5L
A 13|iBHE cm >100 >100
AETRBREE (B 1|pH 7.3 7.5
OKIR:C) (18) (18)
B 2|D0 mg/1 10 11
B 3|BOD mg/1 < 0.5 < 0.5
B 4|COD mg/1 — 1.5
B 5|SS mg/1 1 <1
B 6| KIGERE MPN/100m1 790 490
B T#R#ESR mg/1 — 0.62
B 8l#U v mg/1 — 0.010
fidt B |C 1| FITUA mg/1 - -
C 2&®v7rv mg/1 — —
C 4\6h mg/1 — —
C  5|AMY a2 L mg/1 — —
cC 6|lv# mg/1 — —
C  TIakeE mg/1 — —
C 8|7 /LFILKER mg/1 — —
C 9|PCB mg/1 — —
C 10/pVZmru=F LYV mg/1 — —
C N7 r77vppF L mg/1 — —
C 12|UEfbiRE mg/1 — —
C 13|¥7muaRrH mg/1 — —
C l4|,2-Y7vpxX mg/1 — —
C 15/, ,1-hU v H mg/1 — —
C 16/1,,2-hU 7 mp=xH mg/1 — —
C 17|1,1-¥YZ/mpnxFL mg/1 — —
C 18| %-1,2/mmxFL mg/1 — —
C 19|1,3-YZ7mouro~Xr mg/1 — —
C 20/F%7 5 A mg/1 — —
C 21|y~ (CAT) mg/1 — —
C 2)/FF_ LT mg/1 — —
c 23| ¥ mg/1 — —
C 24lELv mg/1 — —
C 25|73 mg/1 — —
C 26|k mg/1 — —
Hek#E (D 1|7/ — 08 mg/1 — —
D 2|8 mg/1 — —
D 3|#EE) mg/1 — —
D A\VEfRMEER mg/1 — —
D 5\fRE~ T mg/1 — —
D 6/(£) i mg/1 — —
D 8n—~FHVHmE mg/1 — —
FXENL |E |7 oE=THEES mg/1 — < 0.05
E  2|WmBEER mg/1 — 0.003
E  3|HERREER mg/1 — 0.61
E 4/ G#EZEFE (ON) mg/1 — < 0.1
E 9|4/ HUERREY mg/1 — 0. 004
HOERBRES |F 2)VBE B — 1.0
F  3EER mS/m — 6.7
F 5|3 MERIGEREER fi#/100m1 — 24
F_ 23 A A4 mg/1 — 12
BREEA 7 1 RL A mg/1 — —
7 x /) —) mg/1 — —
HRALLTLVFE R mg/1 — —
rKZ o A-1,2-V7unpnxF L mg/1 — —




PR HA TS
PRAAE A B |184F
4H27TH 4H27TH
HExtg (6:00)
L2-Yr7unru/sNy mg/1 - -
p-Yr o~y mg/1 - -
A ¥ FF mg/1 — —
ATV mg/1 — —
Jrx=huFFr mg/1 — —
A TaFAT mg/1 — —
v Ul mg/1 — —
rsuouXo=)L mg/1 — —
e IYIF mg/1 — —
EPN mg/1 — —
U a LR A mg/1 — —
T ) THNT mg/1 — —
A FaRR A mg/1 — —
G 16|77 ujL= kL7 = > (CNP) mg/1 — —
|\ mg/1 — —
I mg/1 — —
T ANV =T )~ F L mg/1 — —
=) mg/1 — —
T TTV mg/1 — —
TUTEY mg/1 — —
EhE = LE ) v — mg/1 — —
ol /8= B Bl N BN mg/1 — —
1, 4-VAFV mg/1 — —
AV IV mg/1 — —
7 mg/1 — —
ACEESE [H  8[2-MIB ng/1 —
H 9/VARAIV ng/1 — —
H 18|% kU o A ¥ A RRHE mg/1 — —
FFEREVIE S 10-1




T
HAEEH A R 184
5H8H 5H9H 5H9H
FRSOE (18:00) (0:00) (6:00)
BB (A 1[BKRATE EfE T e
A 2| RE = B B
A 3| ERKIEH AN 17:50 0:05 6:40
NRERA m 0. 40 0. 40 0. 36
A 6K m 0. 90 0.90 0.86
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 20. 9 18.4 15.9
A 9|/KIR C 17.2 17.3 17.2
A 111508 gl | EEFEY | EREFEY
A 12| B i 5L 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 7.3 7.3 7.2
OKIR:C) (21) (20) (20)
B 2|D0O mg/1 11 9.4 9.7
B 3|BOD mg/1 0.7 < 0.5 < 0.5
B 4|coD mg/1 — — —
B 5/SS mg/1 3 2 2
B 6| KIGERE MPN/100m1 1, 700 4,900 1, 300
B TR=ESR mg/1 — — —
B 8}V mg/1 — — —
e FlC 1|HFIUA mg/1 — — —
C 2|(®>vT7v mg/1 — — —
C 4\6h mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥7uoraxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-YZ7mouro~Xr mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D A\VEfRMEER mg/1 — — —
D 5|~ mg/1 — — —
D 6/(£) i mg/1 — — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 — — —
E  2|WmBEER mg/1 — — —
E  3|HERREER mg/1 — — —
E 4 fpREEEFE (ON) mg/1 — — —
E 9|4/ HUERREY mg/1 — — —
HOERBRES |F 2)VBE B — — —
F  3|EER mS/m — — —
F 5|3 MERIGEREER fi#/100m1 — — —
F_ 23 A A4 mg/1 — — —
BREEA 7 1 RL A mg/1 — — —
7 x /) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B k184
5A8H 5H9H 5A9H
FHEXIS (18:00) (0:00) (6:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

Tt Zupk RY v mg/1 — — —

1, 4-VAFV mg/1 — — —
oINS mg/1 — — —
A mg/l — — _
AERSE [H  8]2-MIB ng/1 — — —
H 9/VARAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FhaRE i E 5 180010—4




T
HAEEH A Tk
5H9H 6H6H 6H7H
FHExts (18:00) (0:00)
BB (A 1[BKRATE EfE T e
A 2| RE & B B
A 3| ERKIEH B4y 14:20 17:55 0:14
NRERA m 0. 36 0.10 0.10
A 6K m 0. 86 0.60 0.60
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 28.0 25.0 22.0
A 9PKIR C 18.5 22.5 20.0
A 115081 gl | BEFEY | EEFEY
A 12| B i 5L 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 7.6 7.6 7.2
OKIR:C) (20) (23) (23)
B 2|D0O mg/1 10 9.3 8.1
B 3|BOD mg/1 < 0.5 1.2 0.7
B 4|coD mg/1 1.6 — —
B 5/SS mg/1 2 1 2
B 6| KIGERE MPN/100m1 2,200 1, 300 3, 300
B T#R#ESR mg/1 0.66 — —
B 8l#U v mg/1 0.010 — —
fi 5 |C 1WA RIUA mg/1 < 0.001 — —
C 2/ 7v mg/1 < 0.1 — —
C 48 mg/1 < 0.005 — —
C  5|AMY a2 L mg/1 < 0.005 — —
cC 6|lv# mg/1 0. 002 — —
C  TIakeE mg/1 < 0. 0005 — —
C 8|7/ FLKER mg/1 < 0. 0005 — —
C 9|PCB mg/1 < 0. 0005 — —
C 10|rYZoo=FlL v mg/1 < 0.001 — —
C N|FrIZ7ppnFL v mg/1 < 0.001 — —
C 12|k kiR mg/1 < 0. 0002 — —
C 13|¥Z7muRrRH mg/1 < 0.001 — —
C l4|l,2-Y7manxf mg/1 < 0. 0004 — —
C 15,1, 1-pYZenxzH v mg/1 < 0.001 — —
C 16],1,2-rYZunzH mg/1 < 0. 0006 — —
C 17|1,1-¥YZ/mpnxFL mg/1 < 0.001 — —
C 18| %-1,2/mmxFL mg/1 < 0.001 — —
C 19|1,3-Y7mmnru~y mg/1 < 0. 0002 — —
C 20/F%7 5 A mg/1 < 0. 0006 — —
C 21|y~ (CAT) mg/1 < 0.0003 — —
C 2)/FF_ LT mg/1 < 0.001 — —
C 23|y Pr mg/1 < 0.001 — —
C 24lELv mg/1 < 0.002 — —
C 25|7 v mg/1 0.1 — —
C 26|k mg/1 < 0.1 — —
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — —
D  3|dfigh mg/1 < 0.003 — —
D A\VEfRMEER mg/1 — — —
D 5|~ mg/1 — — —
D 6/(£) i mg/1 — — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 — —
E  2|WmBEER mg/1 0. 002 — —
E  3|HERREER mg/1 0.51 — —
E 4/ G#EZEFE (ON) mg/1 0.1 — —
E 9|4/ HUERREY mg/1 0. 009 — —
HOERBRES |F 2)VBE E 1.6 — —
F  3EER mS/m 6.4 — —
F 5|3 MERIGEREER fi#/100m1 40 — —
F 23|14 mg/1 11 — —
BREEA 7 1 RL A mg/1 — — —
Tz ) —)b mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B gk
5A9H 6A6H 6A7H
FHExts (18:00) (0:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —
v Ul mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

ol /8= B Bl N BN mg/1 — — —

1, 4-VAFV mg/1 — — —

v IV mg/1 — — —
A mg/l — — _
JKERSE |H  8|2-MIB ng/1 — — —
H 9/vAAIV ng/1 — — —
H 18~ U a2 ¥ L Epkke mg/1 0. 029 — —

FFEREVIE S 1800




T
TRAAE A B 184
6H7H 6H7H
FESE S (6:00)
BB (A 1[BKRATE e e
A 2| RfE B B
A 3| ERKIEH B4y 6:45 13:08
A 4|KNT m 0. 09 0. 09
A 6K m 0.59 0.59
A TIERAOKEE m 0.10 0.10
A 8/&IA C 21.0 26.0
A 9PKIR C 19.0 21.5
A 11448 Bl | EEFEY
A 12| B i 5L 5L
A 13|iBHE cm >100 >100
AETRBREE (B 1|pH 7.2 7.7
OKIR:C) (23) (24)
B 2|D0 mg/1 8.9 10
B 3|BOD mg/1 0.6 0.5
B 4|COD mg/1 — 1.9
B 5|SS mg/1 2 1
B 6| KIBHRE MPN/100m1 2,700 1, 300
B T#R#ESR mg/1 — 0.50
B 8l#U v mg/1 — 0.018
fidt B |C 1| FITUA mg/1 - -
C 2&®v7rv mg/1 — —
C 4\6h mg/1 — —
C  5|AMY a2 L mg/1 — —
cC 6|lv# mg/1 — —
C  TIakeE mg/1 — —
C 8|7 /LFILKER mg/1 — —
C 9|PCB mg/1 — —
C 10/pVZmru=F LYV mg/1 — —
C N7 r77vppF L mg/1 — —
C 12|UEfbiRE mg/1 — —
C 13|¥7muaRrH mg/1 — —
C l4|,2-Y7vpxX mg/1 — —
C 15/, ,1-hU v H mg/1 — —
C 16/1,,2-hU 7 mp=xH mg/1 — —
C 17|1,1-¥YZ/mpnxFL mg/1 — —
C 18| %-1,2/mmxFL mg/1 — —
C 19|1,3-YZ7mouro~Xr mg/1 — —
C 20/F%7 5 A mg/1 — —
C 21|y~ (CAT) mg/1 — —
C 2)/FF_ LT mg/1 — —
c 23| ¥ mg/1 — —
C 24lELv mg/1 — —
C 25|73 mg/1 — —
C 26|k mg/1 — —
Hek#E (D 1|7/ — 08 mg/1 — —
D 2|8 mg/1 — —
D 3|#EE) mg/1 — —
D A\VEfRMEER mg/1 — —
D 5\fRE~ T mg/1 — —
D 6/(£) i mg/1 — —
D 8n—~FHVHmE mg/1 — —
FXENL |E |7 oE=THEES mg/1 — < 0.05
E  2|WmBEER mg/1 — 0.003
E  3|HERREER mg/1 — 0. 44
E  4|HHEZEFE ON) mg/1 — 0.1
E 9|4/ HUERREY mg/1 — 0. 009
HOERBRES |F 2)VBE B — 1.4
F  3EER mS/m — 6.9
F 5|3 MERIGEREER fi#/100m1 — 31
F_ 23 A A4 mg/1 — 10
BREEA 7 1 RL A mg/1 — —
7 x /) —) mg/1 — —
HRALLTLVFE R mg/1 — —
rKZ o A-1,2-V7unpnxF L mg/1 — —




PR HA TS
PRAAE A B |184F
6HTH 6HTH
HExtg (6:00)
L2-Yr7unru/sNy mg/1 - -
p-Yr o~y mg/1 - -
A ¥ FF mg/1 — —
ATV mg/1 — —
Jrx=huFFr mg/1 — —
A TaFAT mg/1 — —
v Ul mg/1 — —
rsuouXo=)L mg/1 — —
e IYIF mg/1 — —
EPN mg/1 — —
U a LR A mg/1 — —
T ) THNT mg/1 — —
A FaRR A mg/1 — —
G 16|77 ujL= kL7 = > (CNP) mg/1 — —
|\ mg/1 — —
I mg/1 — —
T ANV =T )~ F L mg/1 — —
=) mg/1 — —
T TTV mg/1 — —
TUTEY mg/1 — —
EhE = LE ) v — mg/1 — —
ol /8= B Bl N BN mg/1 — —
1, 4-VAFV mg/1 — —
AV IV mg/1 — —
7 mg/1 — —
ACEESE [H  8[2-MIB ng/1 — —
H 9/VARAIV ng/1 — —
H 18|% kU o A ¥ A RRHE mg/1 — —
FFEREVIE S 0-14




T
HAEEH A R 184
TH11H TH12H TH12H
FRSOE (18:00) (0:00) (6:00)
BB (A 1[BKRATE e e e
A 2| Rfr i =2 B
A 3| ERKIEH AN 17:55 0:15 6:45
NRERA m 0. 40 0. 46 0. 40
A 6K m 0. 90 0.96 0.90
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 26.5 25.0 25.0
A 9|/KIR C 22.2 21.0 22.0
A 115081 gl | EEFEY | BEFEY
A 12| B 5L 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 7.0 7.0 7.1
OKIR:C) (25) (25) (24)
B 2|D0O mg/1 8.0 7.9 8.7
B 3|BOD mg/1 1.0 0.9 0.8
B 4|coD mg/1 — — —
B 5/SS mg/1 2 4 3
B 6| KIGERE MPN/100m1 35, 000 17, 000 9, 400
B TR=ESR mg/1 — — —
B 8}V mg/1 — — —
e FlC 1|HFIUA mg/1 — — —
C 2|(®>vT7v mg/1 — — —
C 4\6h mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-YZ7mouro~Xr mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D A\VEfRMEER mg/1 — — —
D 5|~ mg/1 — — —
D 6/(£) i mg/1 — — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 — — —
E  2|WmBEER mg/1 — — —
E  3|HERREER mg/1 — — —
E 4 fpREEEFE (ON) mg/1 — — —
E 9|4/ HUERREY mg/1 — — —
HOERBRES |F 2)VBE B — — —
F  3|EER mS/m — — —
F 5|3 MERIGEREER fi#/100m1 — — —
F_ 23 A A4 mg/1 — — —
BREEA 7 1 RL A mg/1 — — —
7 x /) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B k184
TH11H TH12H TH12H
FHEXIS (18:00) (0:00) (6:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

Tt Zupk RY v mg/1 — — —

1, 4-VAFV mg/1 — — —
oINS mg/1 — — —
A mg/l — — _
AERSE [H  8]2-MIB ng/1 — — —
H 9/VARAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FhaRE i E 5 180010-18




T
HAEEH A ok
THI12H 8HI1H 8H2H
FHExts (18:00) (0:00)
BB (A 1[BKRATE e e e
A 2| RE = B B
A 3| ERKIEH B4y 14:30 18:35 0:18
NRERA m 0.37 0.08 0.10
A 6K m 0. 87 0.58 0.60
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 27.3 26.0 25.0
A 9PKIR C 22.5 26.2 25.8
A 115081 gl | BEFEY | KEFEY
A 12| B 5L e 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 7.3 7.3 7.2
OKIR:C) (24) (26) (26)
B 2|D0O mg/1 9.1 8.6 7.7
B 3|BOD mg/1 1.3 0.8 0.9
B 4|coD mg/1 1.9 — —
B 5/SS mg/1 3 1 1
B 6| KIGERE MPN/100m1 3, 500 4,900 4,900
B T#R#ESR mg/1 0.59 — —
B 8l#U v mg/1 0. 021 — —
e FlC 1|HFIUA mg/1 — — —
C 2|(®>vT7v mg/1 — — —
C 4\6h mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-YZ7mouro~Xr mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D A\VEfRMEER mg/1 — — —
D 5|~ mg/1 — — —
D 6/(£) i mg/1 — — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 0. 06 — —
E  2|WmBEER mg/1 0. 002 — —
E  3|HERREER mg/1 0.41 — —
E 4/ G#EZEFE (ON) mg/1 0.2 — —
E 9|4/ HUERREY mg/1 0.012 — —
HOERBRES |F 2)VBE E 1.9 — —
F  3EER mS/m 6.6 — —
F 5| EMEHERIGEREK fi#/100m1 260 — —
F 23|14 mg/1 10 — —
BREEA 7 1 RL A mg/1 — — —
7 x /) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B gk
TH12H 8A1H 8H2H
FHExts (18:00) (0:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

ol /8= B Bl N BN mg/1 — — —

1, 4-VAFV mg/1 — — —

v IV mg/1 — — —
A mg/l — — _
JKERSE |H  8|2-MIB ng/1 — — —
H 9/vAAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FFEREVIE S 1800




T
TRAAE A B 184
8H2H 8H2H
FESE S (6:00)
BHBLR (A LEKAIE e e
A 2| RfE B B
A 3| ERKIEH B4y 6:25 15:00
A 4|KNT m 0.11 0.13
A 6K m 0.61 0.63
A TIERAOKEE m 0.10 0.10
A 8/&IA C 25. 0 34.5
A 9PKIR C 26. 0 28. 1
A 111508 Bl | EEFEY
A 12| B i 5L 5L
A 13|iBHE cm >100 >100
AVERREE B 1|pH 7.2 7.6
OKiIE:C) (26) (27
B 2|D0 mg/1 8.1 9.1
B 3|BOD mg/1 0.8 0.9
B 4|COD mg/1 — 1.6
B 5|SS mg/1 1 <1
B 6| KIBHRE MPN/100m1 3, 300 3, 300
B 7HRER mg/1 — 0. 49
B 8l#U v mg/1 — 0.018
B E|C 1 BFITA mg/1 — —
C 2&®v7rv mg/1 — —
C_4in mg/1 — —
C 5|7 e L mg/1 — —
C 6|EF mg/1 — —
C  TIakeE mg/1 — —
C 8|7 /LFILKER mg/1 — —
C 9|PCB mg/1 — —
C 10/rV /BT LYV mg/1 — —
C N|FrIZ7ppnFL v mg/1 — —
C 12|UEfbiRE mg/1 — —
C 13|¥7muaRrH mg/1 — —
C l4|,2-Y7vpxX mg/1 — —
C 15|, 1,1-RYZzaaxX mg/1 — —
C 16|1,1,2- Y zaa=x=X mg/1 — —
C 17|1,1-¥YZ/mpnxFL mg/1 — —
C 18|vA-l,2¥7vu=xF L mg/1 — —
C 19|1,3-YZ7mouro~Xr mg/1 — —
C 201F 77 A mg/1 — < 0.0006
C 21|y~ (CAT) mg/1 — < 0.0003
C 220FA_HNT mg/1 — < 0.001
c 23| ¥ mg/1 — —
C 24lELv mg/1 — —
C 25|7 v mg/1 — —
C 26|k mg/1 — —
Hek#E (D 1|7/ — 08 mg/1 — —
D 2|40 mg/1 — —
D  3|dfigh mg/1 — 0. 009
D A\VEfRMEER mg/1 — —
D 5\fRE~ T mg/1 — —
D 6/(&HB)7ul mg/1 — —
D 8hn—~FVHHEHE mg/1 — —
FXENL |E |7 oE=THEES mg/1 — < 0.05
E  2|WmBEER mg/1 — 0. 004
E  3|HERREER mg/1 — 0. 39
E 4/ G#EZEFE (ON) mg/1 — <0.1
E 9|4/ HUERREY mg/1 — 0.010
HIERERBE |F 2% B — 1.0
F  3EER mS/m — 7.3
F 5|3 MERIGEREER fi#/100m1 — 120
F_ 23 A A4 mg/1 — 10
BREEA VAR N mg/1 — < 0.001
7 x/)—) mg/1 — < 0.001
FILVALT VT B R mg/1 — < 0.03
N 2-1,2-7nuxF L mg/1 — < 0.001




T
PRAAE A B |184F
8H2H 8H2H
FESE S (6:00)

L,2-Y7uuru,y mg/1 — < 0.001
p-YruuX P mg/1 — < 0.001

A XV FF mg/1 — < 0.0008
BTV ) v mg/1 — < 0. 0005
Jr=huFt mg/1 — < 0.0003

AV TaFLT mg/1 — < 0.001

7% 4 mg/1 — < 0.001
Jauafua=) mg/1 — < 0.001

e IYIF mg/1 — < 0. 0008

EPN mg/1 — < 0.0006
A=V % S mg/1 — < 0.001

T ) THNT mg/1 — < 0.001

AT aRUKRA mg/1 — < 0.0008

G 16|Z7m=Fr7 = (CNP) mg/1 — < 0.0005
[N%==% mg/1 — < 0.001
FoLv mg/1 — < 0.001

T AR F )L~ F L mg/1 — < 0.006
=) mg/1 — < 0.01

T TT mg/1 — < 0.007
TUFEV mg/1 — < 0.002

b = LE ) ~— mg/1 — < 0.0002
Trsuonontk N mg/1 — < 0.00004
L4V mg/1 — < 0.005
AV IV mg/1 — < 0.005
VT mg/1 — < 0.0002
AERSE [H  8]2-MIB ng/1 — <5
H 9/VARAIV ng/1 — <5
H 18 h U na A X A RkEE mg/1 — 0. 028

FFEREVIE S 0-22




T
HAEEH A R 184
9H5H 9A6H 9H6H
FRSOE (18:00) (0:00) (6:00)
BB (A 1[BKRATE EfE T e
NIER B & 5]
A 3| ERKIEH B4y 17:55 23:35 6:20
NRERA m 0.03 0.01 0.01
A 6K m 0.53 0.51 0.51
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 25. 8 23.4 22.0
A 9PKIR C 25.4 24.0 23.0
A 115081 gl | EEFEY | EREFEY
A 12| B i 5L 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 7.5 7.2 7.2
OKIR:C) (24) (24) (24)
B 2|D0O mg/1 9.3 7.7 7.7
B 3|BOD mg/1 1.0 0.8 0.7
B 4|coD mg/1 — — —
B 5/SS mg/1 <1 1 1
B 6| KIGERE MPN/100m1 3, 300 3, 300 3, 300
B TR=ESR mg/1 — — —
B 8}V mg/1 — — —
e FlC 1|HFIUA mg/1 — — —
C 2|(®>vT7v mg/1 — — —
C 4\6h mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-YZ7mouro~Xr mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D A\VEfRMEER mg/1 — — —
D 5|~ mg/1 — — —
D 6/(£) i mg/1 — — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 — — —
E  2|WmBEER mg/1 — — —
E  3|HERREER mg/1 — — —
E 4 fpREEEFE (ON) mg/1 — — —
E 9|4/ HUERREY mg/1 — — —
HOERBRES |F 2)VBE B — — —
F  3|EER mS/m — — —
F 5|3 MERIGEREER fi#/100m1 — — —
F_ 23 A A4 mg/1 — — —
BREEA 7 1 RL A mg/1 — — —
7 x /) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B k184
9A5H 9A6H 9A6H
FHEXIS (18:00) (0:00) (6:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

Tt Zupk RY v mg/1 — — —

1, 4-VAFV mg/1 — — —
oINS mg/1 — — —
A mg/l — — _
AERSE [H  8]2-MIB ng/1 — — —
H 9/VARAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FhaRE i E 5 180010-31




T
HAEEH A Tk
9H6H 1044H 10A5H
FHExts (18:00) (0:00)
BB (A 1[BKRATE EfE T e
A 2| Rfr i =2 B
A 3| ERKIEH B4y 12:25 17:45 23:35
NRERA m 0. 04 -0.01 -0.01
A 6K m 0. 54 0.49 0.49
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 23.9 25.0 20. 0
A 9PKIR C 23.7 22.4 21.5
A 111508 gl | BEFEY | EEFEY
A 12| B i 5L 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 7.5 7.2 7.3
OKIR:C) (23) (24) (24)
B 2|D0O mg/1 8.9 8.9 8.4
B 3|BOD mg/1 0.7 < 0.5 < 0.5
B 4|coD mg/1 1.7 — —
B 5/SS mg/1 1 <1 <1
B 6| KIGERE MPN/100m1 4, 600 330 1, 700
B T#R#ESR mg/1 0.51 —
B 8l#U v mg/1 0.015 — —
e FlC 1|HFIUA mg/1 — — —
C 2|(®>vT7v mg/1 — — —
C 4\6h mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-YZ7mouro~Xr mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D A\VEfRMEER mg/1 — — —
D 5|~ mg/1 — — —
D 6/(£) i mg/1 — — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 — —
E  2|WmBEER mg/1 0. 002 — —
E  3|HERREER mg/1 0. 40 — —
E 4/ G#EZEFE (ON) mg/1 0.1 — —
E 9|4/ HUERREY mg/1 0. 007 — —
HOERBRES |F 2)VBE E 0.9 — —
F  3EER mS/m 7.9 — —
F 5| EMEHERIGEREK fi#/100m1 300 — —
F 23|14 mg/1 10 — —
BREEA 7 1 RL A mg/1 — — —
7 x /) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B gk
9A6H 10H4H 10A5A
FHExts (18:00) (0:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

ol /8= B Bl N BN mg/1 — — —

1, 4-VAFV mg/1 — — —

v IV mg/1 — — —
A mg/l — — _
JKERSE |H  8|2-MIB ng/1 — — —
H 9/vAAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FFEREVIE S 1800




T
TRAAE A B 184
10A5H 10A5H
FESE S (6:00)
BB (A 1[BKRATE e e
A 2| KM E E
A 3Bk B4y 6:40 12:50
NRERA m -0.01 -0. 02
A 6K m 0.49 0.48
A TIERAOKEE m 0.10 0.10
A 8/&IA C 19.5 26.6
A 9PKIR C 20. 4 21.5
A 11448 Bl | EEFEY
A 12| B 5L 5L
A 13|BRLEE cm >100 >100
AVERREE B 1|pH 7.3 7.5
OKiR:C) (24) (22)
B 2|D0O mg/1 8.5 9.8
B 3|BOD mg/1 < 0.5 0.5
B 4|coD mg/1 — 1.5
B 5/SS mg/1 1 <1
B 6| KIBHRE MPN/100m1 1, 300 1, 300
B T#R#ESR mg/1 — 0. 50
B 8l#U v mg/1 — 0.012
B FE|C 1IFITA mg/1 — < 0.001
C 2/ 7v mg/1 — < 0.1
C 48 mg/1 — < 0.005
C  5|AMY a2 L mg/1 — < 0.005
cC 6|lv# mg/1 — 0. 002
C  TIakeE mg/1 — < 0. 0005
C 8|7/ FLKER mg/1 — < 0. 0005
C 9|PCB mg/1 — < 0. 0005
C 10|y Zoax=FL v mg/1 — < 0.001
C N|FrIZ7ppnFL v mg/1 — < 0.001
C 12|UEfbiRE mg/1 — < 0. 0002
C 13|¥rmnmA& mg/1 — < 0.001
C l4|l,2-Y7manxf mg/1 — < 0. 0004
C 15,1, 1-pYZenxzH v mg/1 — < 0.001
C 16],1,2-rYZunzH mg/1 — < 0. 0006
C 17|1,1-¥YZ/mpnxFL mg/1 — < 0.001
C 18| %-1,2/mmxFL mg/1 — < 0.001
C 19|1,3-Y7mmnru~y mg/1 — < 0. 0002
C 20/F%7 5 A mg/1 — —
C 21|y~ (CAT) mg/1 — —
C 22| FARANT mg/1 — —
C 23|y Pr mg/1 — < 0.001
C 24lELv mg/1 — < 0.002
C 25|73 mg/1 — < 0.1
C 26|k mg/1 — < 0.1
BEAKHH] (D 1|7/ — NV mg/1 — —
D 2|4 mg/1 — —
D 3|#EE) mg/1 — —
D A\VEfRMEER mg/1 — —
D 5|~ mg/1 — —
D 6/(£) i mg/1 — —
D 8h—~FVhimE mg/1 — —
FXENL |E |7 oE=THEES mg/1 — < 0.05
E  2|WmBEER mg/1 — 0. 002
E  3|HERREER mg/1 — 0. 46
E 4/ G#EZEFE (ON) mg/1 — < 0.1
E 9|4/ HUERREY mg/1 — 0. 005
HOERBRES |F 2)VBE B — 0.7
F  3EER mS/m — 7.4
F 5|3 MERIGEREER fi#/100m1 — 44
F_ 23 A A4 mg/1 — 10
BREEA 7 1 RL A mg/1 — —
7 ) —)b mg/1 — —
HRALLTLVFE R mg/1 — —
rKZ o A-1,2-V7unpnxF L mg/1 — —




PR HA TS
PRAAE A B |184F
10H5H 10H5H
HExtg (6:00)

L,2-Y7uanurnaXy mg/1 — —
p-YrruaX P mg/1 — —

A ¥ FF mg/1 — —
ATV mg/1 — —
Jrx=huFFr mg/1 — —

A TaFAT mg/1 — —
v Ul mg/1 — —
rsuouXo=)L mg/1 — —

e IYIF mg/1 — —

EPN mg/1 — —

U a LR A mg/1 — —

T ) THNT mg/1 — —

A FaRR A mg/1 — —

G 16|77 ujL= kL7 = > (CNP) mg/1 — —
|\ mg/1 — —
I mg/1 — —

T ANV =T )~ F L mg/1 — —
=) mg/1 — —

T TTV mg/1 — —
TUTEY mg/1 — —
EhE = LE ) v — mg/1 — —

ol /8= B Bl N BN mg/1 — —

1, 4-VAFV mg/1 — —

AV IV mg/1 — —
vl mg/1 — —
ACEESE [H  8[2-MIB ng/1 — —
H 9/VARAIV ng/1 — —
H 18|% kU o A ¥ A RRHE mg/1 — —

FFEREVIE S 0-35




T
HAEEH A R 184
11A6H 11A7H 11A7H
FRSOE (18:00) (0:00) (6:00)
BB (A 1[BKRATE e e e
A 2| KM i E e
A 3| ERKIEH AN 17:35 0:35 6:40
NRERA m -0. 02 -0.03 -0. 06
A 6K m 0. 48 0.47 0.44
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 14.5 13.0 11.5
A 9|/KIR C 16.5 15.2 14.7
A 115081 gl | EEFEY | BEFEY
A 12| B 5L 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 7.5 7.4 7.3
OKIR:C) (19) (19) (19)
B 2|D0O mg/1 9.6 9.1 9.2
B 3|BOD mg/1 0.5 < 0.5 < 0.5
B 4|coD mg/1 — — —
B 5/SS mg/1 <1 <1 <1
B 6| KIGERE MPN/100m1 7,900 5, 400 2, 200
B TR=ESR mg/1 — — —
B 8}V mg/1 — — —
e FlC 1|HFIUA mg/1 — — —
C 2|(®>vT7v mg/1 — — —
C 4\6h mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-YZ7mouro~Xr mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D A\VEfRMEER mg/1 — — —
D 5|~ mg/1 — — —
D 6/(£) i mg/1 — — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 — — —
E  2|WmBEER mg/1 — — —
E  3|HERREER mg/1 — — —
E 4 fpREEEFE (ON) mg/1 — — —
E 9|4/ HUERREY mg/1 — — —
HOERBRES |F 2)VBE B — — —
F  3|EER mS/m — — —
F 5|3 MERIGEREER fi#/100m1 — — —
F_ 23 A A4 mg/1 — — —
BREEA 7 1 RL A mg/1 — — —
7 x /) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B k184
11H6A 11A7A 11A7A
FHEXIS (18:00) (0:00) (6:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

Tt Zupk RY v mg/1 — — —

1, 4-VAFV mg/1 — — —
oINS mg/1 — — —
A mg/l — — _
AERSE [H  8]2-MIB ng/1 — — —
H 9/VARAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FhaRE i E 5 180010-41




T
HAEEH A ok
11A7H 12A4H 12A5H
FHExts (18:00) (0:00)
BB (A 1[BKRATE e e e
A 2| RfE B B i
A 3| ERKIEH B4y 13:15 17:55 0:23
NRERA m -0. 09 -0.13 -0.13
A 6K m 0.41 0.37 0.37
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 14.5 8.5 3.0
A 9PKIR C 15.5 10. 3 8.9
A 11448 gl | BEFEY | KEFEY
A 12| B 5L e 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 7.7 7.3 7.3
OKIR:C) (16) (10) (9)
B 2|D0O mg/1 11 12 12
B 3|BOD mg/1 < 0.5 0.6 < 0.5
B 4|coD mg/1 1.6 — —
B 5/SS mg/1 <1 <1 <1
B 6| KIGERE MPN/100m1 2,200 1, 700 330
B T#R#ESR mg/1 0.52 —
B 8l#U v mg/1 0.012 — —
e FlC 1|HFIUA mg/1 — — —
C 2|(®>vT7v mg/1 — — —
C 4\6h mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-YZ7mouro~Xr mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
HeAHSH (D 1|7/ —nHH mg/1 < 0.05 — —
D 2|8 mg/1 < 0.004 — —
D  3|dfigh mg/1 < 0.003 — —
D 4\IEfREER mg/1 < 0.03 — —
D 5\fRE~ T mg/1 < 0.005 — —
D 6/(®)7nvAi mg/1 < 0.05 — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 0.07 — —
E  2|WmBEER mg/1 0.001 — —
E  3|HERREER mg/1 0. 44 — —
E 4/ G#EZEFE (ON) mg/1 < 0.1 — —
E 9|4/ HUERREY mg/1 0. 003 — —
HOERBRES |F 2)VBE E 0.6 — —
F  3EER mS/m 7.8 — —
F 5|3 MERIGEREER fi#/100m1 62 — —
F 23|14 mg/1 11 — —
BREEA 7 1 RL A mg/1 — — —
7 x /) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




PR HA TS
WAEFH B gk
11A7A 12H4A 12A45H
FESE S (18:00) (0:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 msi= kL7 = (CNP) mg/1 — — —
|\ mg/1 — — —
XL mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

ol /8= B Bl N BN mg/1 — — —

1, 4-VAFV mg/1 — — —

oV I mg/1 — — —
A mg/l — — _
JKERSE |H  8|2-MIB ng/1 — — —
H 9/vAAIV ng/1 — — —
H 18~ U a2 ¥ L Epkke mg/1 0. 039 — —

FFEREVIE S 1800




T
TRAAE A B 184
12A5H 12A5H
FESE S (6:00)
BB (A 1[BKRATE e e
A 2| RfE i E
A 3| ERKIEH B4y 6:40 13:15
A 4|KNT m -0.13 -0.12
A 6K m 0.37 0.38
A TIERAOKEE m 0.10 0.10
A 8/&IA C 3.0 11.2
A 9PKIR C 8.0 9.3
A 11448 Bl | EEFEY
A 12| B 5L 5L
A 13|iBHE cm >100 >100
AETRBREE (B 1|pH 7.3 7.8
OKIR:C) (10) (14)
B 2|D0 mg/1 12 13
B 3|BOD mg/1 < 0.5 < 0.5
B 4|COD mg/1 — 1.2
B 5|SS mg/1 <1 <1
B 6| KIGERE MPN/100m1 490 490
B T#R#ESR mg/1 — 0.49
B 8l#U v mg/1 — 0. 008
fidt B |C 1| FITUA mg/1 - -
C 2&®v7rv mg/1 — —
C 4\6h mg/1 — —
C  5|AMY a2 L mg/1 — —
cC 6|lv# mg/1 — —
C  TIakeE mg/1 — —
C 8|7 /LFILKER mg/1 — —
C 9|PCB mg/1 — —
C 10/pVZmru=F LYV mg/1 — —
C N7 r77vppF L mg/1 — —
C 12|UEfbiRE mg/1 — —
C 13|¥7muaRrH mg/1 — —
C l4|,2-Y7vpxX mg/1 — —
C 15/, ,1-hU v H mg/1 — —
C 16/1,,2-hU 7 mp=xH mg/1 — —
C 17|1,1-¥YZ/mpnxFL mg/1 — —
C 18| %-1,2/mmxFL mg/1 — —
C 19|1,3-YZ7mouro~Xr mg/1 — —
C 20/F%7 5 A mg/1 — —
C 21|y~ (CAT) mg/1 — —
C 2)/FF_ LT mg/1 — —
c 23| ¥ mg/1 — —
C 24lELv mg/1 — —
C 25|73 mg/1 — —
C 26|k mg/1 — —
Hek#E (D 1|7/ — 08 mg/1 — —
D 2|8 mg/1 — —
D 3|#EE) mg/1 — —
D A\VEfRMEER mg/1 — —
D 5\fRE~ T mg/1 — —
D 6/(£) i mg/1 — —
D 8n—~FHVHmE mg/1 — —
FXENL |E |7 oE=THEES mg/1 — < 0.05
E  2|WmBEER mg/1 — 0. 002
E  3|HERREER mg/1 — 0. 48
E 4/ G#EZEFE (ON) mg/1 — < 0.1
E 9|4/ HUERREY mg/1 — 0. 007
HOERBRES |F 2)VBE B — 0.4
F  3EER mS/m — 11
F 5|3 MERIGEREER fi#/100m1 — 46
F_ 23 A A4 mg/1 — 13
BREEA 7 1 RL A mg/1 — —
7 x /) —) mg/1 — —
HRALLTLVFE R mg/1 — —
rKZ o A-1,2-V7unpnxF L mg/1 — —




PR HA TS
PRAAE A B |184F
12H5H 12H5H
HExtg (6:00)

L,2-Y7uanurnaXy mg/1 — —
p-YrruaX P mg/1 — —

A ¥ FF mg/1 — —
ATV mg/1 — —
Jrx=huFFr mg/1 — —

A TaFAT mg/1 — —
v Ul mg/1 — —
rsuouXo=)L mg/1 — —

e IYIF mg/1 — —

EPN mg/1 — —

U a LR A mg/1 — —

T ) THNT mg/1 — —

A FaRR A mg/1 — —

G 16|77 ujL= kL7 = > (CNP) mg/1 — —
|\ mg/1 — —
I mg/1 — —

T ANV =T )~ F L mg/1 — —
=) mg/1 — —

T TTV mg/1 — —
TUTEY mg/1 — —
EhE = LE ) v — mg/1 — —

ol /8= B Bl N BN mg/1 — —

1, 4-VAFV mg/1 — —

AV IV mg/1 — —
vl mg/1 — —
ACEESE [H  8[2-MIB ng/1 — —
H 9/VARAIV ng/1 — —
H 18|% kU o A ¥ A RRHE mg/1 — —

FFEREVIE S 0-48




T
HAEEH A R 194
1H4H 1H5H 1H5H
FRSOE (18:00) (0:00) (6:00)
BB (A 1[BKRATE EfE T e
A 2| RfE B B i
A 3| ERKIEH AN 17:50 0:24 6:55
NRERA m -0. 18 -0. 17 -0. 17
A 6K m 0.32 0.33 0.33
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 9.9 9.8 4.9
A 9PKIR C 7.6 7.4 6.8
A 115081 gl | EEFEY | EREFEY
A 12| B i 5L 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 8.5 7.8 7.6
OKIR:C) (13) (13) (13)
B 2|D0O mg/1 12 11 11
B 3|BOD mg/1 < 0.5 < 0.5 < 0.5
B 4|coD mg/1 — — —
B 5/SS mg/1 <1 1 <1
B 6| KIGERE MPN/100m1 230 170 130
B TR=ESR mg/1 — — —
B 8}V mg/1 — — —
e FlC 1|HFIUA mg/1 — — —
C 2|(®>vT7v mg/1 — — —
C 4\6h mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-YZ7mouro~Xr mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D A\VEfRMEER mg/1 — — —
D 5|~ mg/1 — — —
D 6/(£) i mg/1 — — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 — — —
E  2|WmBEER mg/1 — — —
E  3|HERREER mg/1 — — —
E 4 fpREEEFE (ON) mg/1 — — —
E 9|4/ HUERREY mg/1 — — —
HOERBRES |F 2)VBE B — — —
F  3|EER mS/m — — —
F 5|3 MERIGEREER fi#/100m1 — — —
F_ 23 A A4 mg/1 — — —
BREEA 7 1 RL A mg/1 — — —
7 x /) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B R 194
1H4H 1H5H 1A5H
FHEXIS (18:00) (0:00) (6:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
TaIPIR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

Tt Zupk RY v mg/1 — — —

1, 4-VAFV mg/1 — — —
oINS mg/1 — — —
A mg/l — — _
AERSE [H  8]2-MIB ng/1 — — —
H 9/VARAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FhaRE i E 5 180010-52




T
HAEEH A Tk
1H5H 2H5H 2H6H
FHExts (18:00) (0:00)
BB (A 1[BKRATE EfE T e
A 2| RfE B B i
A 3| ERKIEH B4y 12:00 17:30 0:00
NRERA m -0. 16 -0. 25 -0. 25
A 6K m 0. 34 0.25 0.25
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 6.9 13.5 7.3
A 9PKIR C 9.2 9.8 8.4
A 115081 gl | BEFEY | EEFEY
A 12| B i 5L 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 7.3 7.8 7.4
OKIR:C) (11) (14) (13)
B 2|D0O mg/1 13 12 11
B 3|BOD mg/1 < 0.5 0.8 0.8
B 4|coD mg/1 1.4 — —
B 5/SS mg/1 <1 <1 <1
B 6| KIGERE MPN/100m1 230 330 130
B T#R#ESR mg/1 0.61 — —
B 8l#U v mg/1 0.010 — —
e FlC 1|HFIUA mg/1 — — —
C 2|(®>vT7v mg/1 — — —
C 4\6h mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-YZ7mouro~Xr mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D A\VEfRMEER mg/1 — — —
D 5|~ mg/1 — — —
D 6/(£) i mg/1 — — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 < 0.05 — —
E  2|WmBEER mg/1 0. 004 — —
E  3|HERREER mg/1 0. 47 — —
E 4/ G#EZEFE (ON) mg/1 0.1 — —
E 9|4/ HUERREY mg/1 0. 006 — —
HOERBRES |F 2)VBE E 0.5 — —
F  3EER mS/m 8.0 — —
F 5|3 MERIGEREER fi#/100m1 17 — —
F 23|14 mg/1 12 — —
BREEA 7 1 RL A mg/1 — — —
7 x /) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B gk
1A5H 2A5H 2A6H
FHExts (18:00) (0:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

ol /8= B Bl N BN mg/1 — — —

1, 4-VAFV mg/1 — — —
v IV mg/1 — — —
A mg/l — — _
JKERSE |H  8|2-MIB ng/1 — — —
H 9/vAAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FFEREVIE S 1800




T
TRAAEA B |19
2H6H 2H6H
FESE S (6:00)
BHBLR (A LEKAIE e e
A 2| RfE B B
A 3| ERKIEH B4y 6:45 13:05
A 4|KNT m -0. 24 -0. 28
A 6K m 0.26 0.22
A TIERAOKEE m 0.10 0.10
A 8/&IA C 4.6 16.5
A 9PKIR C 7.2 8.0
A 11448 Bl | EEFEY
A 12| B i 5L 5L
A 13|iBHE cm >100 >100
AETRBREE (B 1|pH 7.3 7.9
OKIR:C) (13) (15)
B 2|D0 mg/1 11 14
B 3|BOD mg/1 0.8 0.8
B 4|COD mg/1 — 1.3
B 5|SS mg/1 <1 <1
B 6| KIGHEREEK MPN/100m1 490 23
B T#R#ESR mg/1 — 0.47
B 8l#U v mg/1 — 0. 007
fidt B |C 1| FITUA mg/1 - -
C 2&®v7rv mg/1 — —
C 4\6h mg/1 — —
C  5|AMY a2 L mg/1 — —
cC 6|lv# mg/1 — —
C  TIakeE mg/1 — —
C 8|7 /LFILKER mg/1 — —
C 9|PCB mg/1 — —
C 10/pVZmru=F LYV mg/1 — —
C N7 r77vppF L mg/1 — —
C 12|UEfbiRE mg/1 — —
C 13|¥7muaRrH mg/1 — —
C l4|,2-Y7vpxX mg/1 — —
C 15/, ,1-hU v H mg/1 — —
C 16/1,,2-hU 7 mp=xH mg/1 — —
C 17|1,1-¥YZ/mpnxFL mg/1 — —
C 18| %-1,2/mmxFL mg/1 — —
C 19|1,3-YZ7mouro~Xr mg/1 — —
C 20/F%7 5 A mg/1 — —
C 21|y~ (CAT) mg/1 — —
C 2)/FF_ LT mg/1 — —
c 23| ¥ mg/1 — —
C 24lELv mg/1 — —
C 25|73 mg/1 — —
C 26|k mg/1 — —
Hek#E (D 1|7/ — 08 mg/1 — —
D 2|8 mg/1 — —
D  3|dfigh mg/1 — < 0.003
D A\VEfRMEER mg/1 — —
D 5\fRE~ T mg/1 — —
D 6/(£) i mg/1 — —
D 8n—~FHVHmE mg/1 — —
FXENL |E |7 oE=THEES mg/1 — < 0.05
E  2|WmBEER mg/1 — 0. 004
E  3|HERREER mg/1 — 0.31
E  4|HHEZEFE ON) mg/1 — 0.2
E 9|4/ HUERREY mg/1 — < 0.003
HOERBRES |F 2)VBE B — 0.4
F  3EER mS/m — 9.4
F 5|3 MERIGEREER fi#/100m1 — 49
F_ 23 A A4 mg/1 — 13
BREEA 7 1 RL A mg/1 — —
7 x /) —) mg/1 — —
HRALLTLVFE R mg/1 — —
rKZ o A-1,2-V7unpnxF L mg/1 — —




PR HA TS
PRAEAE A B |194E
2A6H 2A6H
FESE S (6:00)

L2-Yr7unru/sNy mg/1 - -

p-Yr o~y mg/1 - -

A ¥ FF mg/1 — —

ATV mg/1 — —

Jrx=huFFr mg/1 — —

A TaFAT mg/1 — —

v Ul mg/1 — —

rsuouXo=)L mg/1 — —

ZaIYIFR mg/1 — —

EPN mg/1 — —

U a LR A mg/1 — —

T ) THNT mg/1 — —

A FaRR A mg/1 — —

G 16|77 /L= kL7 x> (CNP) mg/1 — —

|\ mg/1 — —

XLy mg/1 — —

T ANV =T )~ F L mg/1 — —

=) mg/1 — —

T TTV mg/1 — —

TUTEY mg/1 — —

EhE = LE ) v — mg/1 — —

ol /8= B Bl N BN mg/1 — —

1, 4-VAFV mg/1 — —

AV IV mg/1 — —

7 mg/1 — —

JKERSE |H  8|2-MIB ng/1 — —

H 9/VARAIV ng/1 — —
H 18~ U a2 ¥ L Epkke mg/1 — 0.014

FFEREVIE S 0-59




T
HAEEH A R 194
3H1H 3H2H 3H2H
FRSOE (18:00) (0:00) (6:00)
BB (A 1[BKRATE EfE T e
A 2| RfE B B i
A 3| ERKIEH AN 17:51 0:35 6:55
NRERA m -0. 26 -0. 29 -0. 28
A 6K m 0.24 0.21 0.22
A TIERAOKEE m 0.10 0.10 0.10
A 8/&IA C 14.0 6.0 3.0
A 9|/KIR C 12.0 8.9 8.4
A 115081 gl | EEFEY | EREFEY
A 12| B i 5L 5L 5L
A 13|BRLEE cm >100 >100 >100
AEVEEREE (B 1|pH 7.5 7.2 7.2
OKIR:C) (17) (17) (17)
B 2|D0O mg/1 14 11 10
B 3|BOD mg/1 < 0.5 < 0.5 < 0.5
B 4|coD mg/1 — — —
B 5/SS mg/1 <1 <1 2
B 6| KIGERE MPN/100m1 33 23 230
B TR=ESR mg/1 — — —
B 8}V mg/1 — — —
e FlC 1|HFIUA mg/1 — — —
C 2|(®>vT7v mg/1 — — —
C 4\6h mg/1 — — —
C  5|AMY a2 L mg/1 — — —
cC 6|lv# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7 /LF/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 ro7ZuupxFLv mg/1 — — —
C 12|UEfbiRE mg/1 — — —
C 13|¥7muaRrH mg/1 — — —
C 14|1,2-V /7 ouxZ mg/1 — — —
C 15/, ,1-hU v H mg/1 — — —
C 16/1,,2-hU 7 mp=xH mg/1 — — —
C 17|1,1-¥YZ/mpnxFL mg/1 — — —
C 18| %-1,2/mmxFL mg/1 — — —
C 19|1,3-YZ7mouro~Xr mg/1 — — —
C 20/F%7 5 A mg/1 — — —
C 21|y~ (CAT) mg/1 — — —
C 22| FARANT mg/1 — — —
C 23|y Pr mg/1 — — —
C 24lELv mg/1 — — —
C 25|7 v mg/1 — — —
C 26|k mg/1 — — —
BEAKHH] (D 1|7/ — NV mg/1 — — —
D 2|4 mg/1 — — —
D 3|HEEH mg/1 — — —
D A\VEfRMEER mg/1 — — —
D 5|~ mg/1 — — —
D 6/(£) i mg/1 — — —
D 8h—~FVhimE mg/1 — — —
FXENL |E |7 oE=THEES mg/1 — — —
E  2|WmBEER mg/1 — — —
E  3|HERREER mg/1 — — —
E 4 fpREEEFE (ON) mg/1 — — —
E 9|4/ HUERREY mg/1 — — —
HOERBRES |F 2)VBE B — — —
F  3|EER mS/m — — —
F 5|3 MERIGEREER fi#/100m1 — — —
F_ 23 A A4 mg/1 — — —
BREEA 7 1 RL A mg/1 — — —
7 x /) —) mg/1 — — —
HRALLTLVFE R mg/1 — — —
rKZ o A-1,2-V7unpnxF L mg/1 — — —




T
WAEFH B R 194
3H1H 3H2H 3H2H
FHEXIS (18:00) (0:00) (6:00)

,2-YZ7uuaraXy mg/1 — — —
p-YrruaX P mg/1 — — —

A XY T4 mg/1 — — —
BTV ) v mg/1 — — —
Jrx=huFFr mg/1 — — —

A TaFAT mg/1 — — —

7 4 mg/1 — — —
rsuouXo=)L mg/1 — — —
ZaIYIFR mg/1 — — —

EPN mg/1 — — —

U a LR A mg/1 — — —

T ) THNT mg/1 — — —

A FaRR A mg/1 — — —

G 16|77 /L= kL7 x> (CNP) mg/1 — — —
|\ mg/1 — — —
XLy mg/1 — — —

T ANV =T )~ F L mg/1 — — —
=) mg/1 — — —

T TTV mg/1 — — —
TUFE mg/1 — — —
EhE = LE ) v — mg/1 — — —

Tt Zupk RY v mg/1 — — —

1, 4-VAFV mg/1 — — —
oINS mg/1 — — —
A mg/l — — _
AERSE [H  8]2-MIB ng/1 — — —
H 9/VARAIV ng/1 — — —
H 18|% kU o A ¥ A RRHE mg/1 — — —

FhaRE i E 5 180010-65




lgaams: i
TREAEA B
3H2H
FESE S
BHBLR (A LEKAIE =
A 2| RfE B
A 3| ERKIEH RE: 4y 13:02
A 4K m -0. 16
A 6K m 0.34
A TIERAOKEE m 0.10
A 8|&UA C 18.0
A 9PKIR C 14.0
A 114481 Bl =R
A 12| 8B& 5L
A 13|iBHE cm >100
AETRBREE (B 1|pH 7.8
OKiIE:C) (16)
B 2|D0 mg/1 13
B 3|BOD mg/1 0.7
B 4|COD mg/1 1.8
B 5|SS mg/1 1
B 6| KIBHRE MPN/100m1 49
B T#R#ESR mg/1 0.58
B 8l#U v mg/1 0.012
fidt B |C 1| FITUA mg/1 -
C 2&®v7rv mg/1 —
C 48 mg/1 —
C 557 v i mg/1 —
C 6/b# mg/1 —
C  T|#IKER mg/1 —
C 8|7 /FLKER mg/1 —
C 9|PCB mg/1 —
C 10/hVZuuFL v mg/1 —
C N|FrIZ7ppnFL v mg/1 —
C 12|UEfbiRE mg/1 —
C 13|¥7muaRrH mg/1 —
C U|L,2-Yr7unxH mg/1 —
C 15/, ,1-hU v H mg/1 —
C 16/1,,2-hU 7 mp=xH mg/1 —
C 17|1,1-¥YZ/mpnxFL mg/1 —
C 18| %-1,2/mmxFL mg/1 —
C 19|1,3-YZ7mouro~Xr mg/1 —
C 201F 77 A mg/1 —
C 21|y~ (CAT) mg/1 —
C 220FA_HNT mg/1 —
c 23| ¥ mg/1 —
C 24lELv mg/1 —
C 25|7v3F# mg/1 —
C_ 26| UHK mg/1 —
Hek#E (D 1|7/ — 08 mg/1 —
D 2|4 mg/1 —
D  3|#gh mg/1 —
D 4\IEfREER mg/1 —
D 5\fRE~ T mg/1 —
D 6/(®)7nvAi mg/1 —
D 8n—~FV L HHPE mg/1 —
ExiEib |[E 1|7 E=TREEE mg/1 < 0.05
E  2|WmBEER mg/1 0.010
E  3|HERREER mg/1 0.54
E 4/ G#EZEFE (ON) mg/1 < 0.1
E 9|4/ HUERREY mg/1 0. 005
HIERERBE |F 2% E 1.8
F 3EEE=R mS/m 8.3
F 5|3 MERIGEREER fi#/100m1 4
F 23|14 mg/1 12
R VTN mg/1 —
7 x/)—) mg/1 —
ANVLT LT E R mg/1 —
rKZ o A-1,2-V7unpnxF L mg/1 —




PR HA TS
WAEFH B
3H2H
FESE S
L,2-Y7uanurnaXy mg/1 —
p-YrruaX P mg/1 —
A XY T4 mg/1 —
ATV mg/1 —
Jr=huFt mg/1 -
A TaFAT mg/1 —
v Ul mg/1 —
rsuouXo=)L mg/1 —
e IYIF mg/1 —
EPN mg/1 —
U a LR A mg/1 —
T ) THNT mg/1 —
A FaRR A mg/1 —
G 16|77 ujL= kL7 = > (CNP) mg/1 —
|\ mg/1 —
I mg/1 —
T ANV =T )~ F L mg/1 —
=) mg/1 —
T TTV mg/1 —
TUTEY mg/1 —
EhE = LE ) v — mg/1 —
ol /8= B Bl N BN mg/1 —
1, 4-VAFV mg/1 —
eV I mg/1 —
vl mg/1 —
ACEESE [H  8[2-MIB ng/1 —
H 9/VARAIV ng/1 —
H 18 b YU a AKX ERREE mg/1 —

PRI 5




[t G GBALEE)
FHAEA H| SEEKI8HE | SERKISHE | SERKISHE | SEAK1ISEE
FHEXG 1A11H 1A 120 1A 120 1A 120
BIHOEE A 1| ERKLE e e e FefE
A 2| KfE 5 i 5 75
A 3|ERAKEEZ B4y 17:30 0:14 5:58 13:40
A AlKAT m -0. 04 -0. 04 -0. 04 -0. 04
A 114481 sl | mesEl | EAE | RaEH
A 13)BHEE cm >100 >100 >100 >100
FRAEA H| SEEKI8HE | CERKISHE | ERKISHE | SEAK1ISEE
HEXS 2H1H 2H1H 2H2H 2H2H
BIHOEE A 1| ERK(LE e e Fe e
A 2| KfE = = 75 =
A 3EKIEH B4y 17:13 23:45 5:40 11:24
A AlKAT m -0.02 0. 00 0. 00 -0.01
A 114481 sl | meaEl | EAE | RaEH
A 13)BHEE cm >100 >100 >100 >100
FRAEA H| SEEKI8HE | ERKISHE | ERKISHE | SFEAK1ISEE
HEXS 3HTH 3H8H 3H8H 3H8H
BiHOEE A 1| ERKLE e Je Je FefE
A 2| KfE 75 75 75 75
A 3EKIEH B4y 17:59 0:14 6:08 10:00
A AlKAT m 0.16 0.16 0.16 0.18
A 11448 sl | sl | EAEl | RaEH
A 13|BHLEE cm >100 >100 >100 >100
FHAEA H| SEEKI8HE | ERKISHE | SEAKISH: | SEAK1ISEE
FHExtg 4726 H 47 27H 47 27H 47 27H
BiHOEE A 1| ERKLE Je Je Je e fE
A 2| KfE & 5§ & 75
A 3BKIFH ) 18:10 0:21 6:18 14:00
A AlKAE m 0.18 0.18 0.19 0. 20
A 11408 fsEl] | mEeaEl | EeEl | RaAEH
A 13|BEE cm >100 >100 >100 >100
FHAEA H| SEEKISHE | CERKISH | SEAKISHE | SFEAK1ISEE
&%t 5H8H 5H9H 5H9H 5H9H
BIHOEE A 1| ERKNLE Je Je e e
A 2| KfE E 75 75 75
A 3|ERAKEEZ B4y 17:50 0:05 6:40 14:20
A AlKAE m 0. 40 0. 40 0. 36 0. 36
A 11408 el | el | eS| RaEH
A 13|BLEE cm >100 >100 >100 >100
FRAEA H| SEEKI8HE | CERKISHE | SERKISHE | SEAK1ISEE
HES 6H6H 6H7H 6H7H 6H7H
BiHOEE A 1| ERKLE Je e e ==
A 2| KfE 75 5] & 75
A 3|ERAKEEZ B4y 17:55 0:14 6:45 13:08
A AlKAT m 0.10 0.10 0. 09 0. 09
A 114481 sl | el | eS| RaEH
A 13|BEE cm >100 >100 >100 >100




[t G GBALEE)
FRAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1ISEE
FHExtg 7TH11H 7TH12H 7TH12H 7TH12H
BIHOEE A 1| ERKLE e e Fe e
PN S 2 2 2 2
A 3|ERAKEEZ B4y 17:55 0:15 6:45 14:30
A AlKAT m 0. 40 0. 46 0. 40 0.37
A 114481 sl | mesEl | EAE | RaEH
A 13|BHLEE cm >100 >100 >100 >100
FHAEA H| SEEKI8HE | ERKISH | SERKISHE | SEAK1ISEE
HEXS 8H1H 8H2H 8H2H 8H2H
BIHOEE A 1| ERK(LE e e o e
A 2| KfE 5 55 75 75
A 3BKIFH B4y 18:35 0:18 6:25 15:00
A AlKAE m 0.08 0.10 0.11 0.13
A 114481 sl | sl | EAE | EaEH
A 13)BHLEE cm >100 >100 >100 >100
FHAEA H| SEEKI8HE | CERKISH | SERKISHE | SEAKLISEE
HES 9H5H 9H5H 9H6H 9H6H
BiHOEE A 1| ERKLE e Je e e
A 2| KfE 75 75 5§ =
A 3BKIEH B4y 17:55 23:35 6:20 12:25
A AlKAE m 0.03 0.01 0.01 0.04
A 11448 sl | sl | EAaE | RaEH
A 13|BHEE cm >100 >100 >100 >100
FHAEA H| SEEKISHE | ERKISHE | SERKISHE | SEAK1ISEE
FHExtg 107 4H 10H5H 1054 10H5H
BiHOEE A 1| ERKLE e Je e e
A2 KM 2 2 £ 2
A 3BKIEH 4y 17:45 0:45 6:40 12:50
A AlKAT m -0.01 -0.01 -0.01 -0. 02
A 114481 el | el | eS| RaAEH
A 13)BHEE cm >100 >100 >100 >100
FHAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1ISE
FHExtg 11H6H 11H7H 11HA7H 11H7H
BIHOEE A 1| ERKLE e e Je e
A 2| K 5 = = I
A 3|ERAKEEZ B4y 17:35 0:35 6:40 13:15
A AlKAE m -0. 02 -0.03 -0. 06 -0.09
A 114481 el | el | EEEl | RaEH
A 13|BLEE cm >100 >100 >100 >100
FRAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1ISEE
FHEXG 12340 12H5H 12H5H 12H5H
BiHOEE A 1| ERKLE Je Je Fe ==
A 2| KfE 75 i i =
A 3|ERAKEEZ B4y 17:55 0:23 6:40 13:15
A AlKAT m -0.13 -0.13 -0.13 -0.12
A 11408 el | sl | eS| RaEH
A 13)BEE cm >100 >100 >100 >100




FRAHIS TR GETLE)
FRAEA H| SEEKI9AE | ERKI9E | SERRI9E | SEARL9E
&%t 1740 1A5H 1A5H 1A5H
BB (A L EKAOE e e Fe e
A 2| KA i} i} 5] 5]
A 3|ERAKEEZ B4y 17:50 0:24 6:55 12:00
A AlKAT m -0.18 -0. 17 -0.17 -0.16
A 114481 sl | mesEl | EAE | RaEH
A 13| B cm >100 >100 >100 >100
FRAAEA H| SEEKL19AE | SRR | SERRI9E | SEARL9E
2%t 2H5H 2H6H 2H6H 2H6H
BB (A KR e e o e
A 2| K 5] 5] 5] 5]
A 3BKIFH B4y 17:30 0:00 6:45 13:05
A AlKAE m -0.25 -0.25 -0. 24 -0.28
A 114481 sl | sl | EAE | EaEH
A 13| B cm >100 >100 >100 >100
FRAEA H| SEEKL19AE | ORI | SERRI9E | SEARL9E
&%t 3H1H 3H2H 3H2H 3H2H
BB (A L EKAE e Je e e
A 2| K 5] i} i} i}
A 3BKIEH B4y 17:51 0:35 6:55 13:02
A AlKAE m -0. 26 -0.29 -0.28 -0.16
A 11448 sl | sl | EAaE | RaEH
A 13| B cm >100 >100 >100 >100




[ s: ) ki
FRAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1ISEE
FHExtg 1A 120 2H2H 3H8H 47 27H
BB (A L EKAE ety ety ety ety
A 2| RKfpe 5] 5] 5] i}
A 3BKIFH 4y 13:55 5:21 9:40 14:20
A 6| RKEE m 2. 00 2.02 1.67 1.10
A TR m 0.10 0.10 0.10 0.10
A 8|&UR C 10.0 3.6 12.0 24.0
A 9PKIE C 7.8 9.5 10.9 16. 0
A 101 | F#RFH ) 14:06 5:09 9:50 14:23
A 102 R B4y 8:13 11:31 4:07 8:03
A 11448 It | measEl | BeE | ReaEH
A I2|RK i 5L i 5L i 5L i 5L
A 13|BHEE cm >100 >100 >100 >100
AEIEEREE (B 1|pH 8.5 7.9 7.4 7.5
(KIE.:°C) (11) (16) (15) (17)
B 2[D0 mg/1 14 12 11 11
B 3[BOD mg/1 0.5 0.6 0.5 0.6
B 4|coDp mg/1 2.0 2.5 1.9 1.7
B 5/SS mg/1 2 3 2 2
B 6| KIGHREEK MPN/100m1 14 350 1, 300 700
B T|#REH mg/1 0. 36 0.76 0.73 0.77
B 8V mg/1 0.015 0. 025 0.014 0.018
e FlC 1|FZFIUA mg/1 — — — —
C 2/(B®)vTv mg/1 — — — —
C 4\%n mg/1 — — — —
C 567w i mg/1 — — — —
C 6/b# mg/1 — — — —
C  T|#IKER mg/1 — — — —
C 8|7/ F/LkER mg/1 — — — —
C 9|pcB mg/1 — — — —
C 10|rYV I TF L mg/1 — — — —
C 1|7 hT7Z7upxFLv mg/1 — — — —
C 12|\t iRE mg/1 — — — —
C 13|¥r7muRrHv mg/1 — — — —
C 14|1,2-v/7mouxZ mg/1 — — — —
C 15/, ,1-pY Iy mg/1 — — — —
C 16|,1,2-rY Iy mg/1 — — — —
C 17]1,1-YZpuxFL v mg/1 — — — —
C 18|vA-l,2-YZupu=FL v mg/1 — — — —
C 19|1,3-vyZ7murmo~Xr mg/1 — — — —
C 20[F 7T L mg/1 — — — —
C 21|y~ (CAT) mg/1 — - — —
C 2|FA T mg/1 — — — —
C 23Ry Pr mg/1 — — — —
C 241V mg/1 — — — —
C 25|7vFHE mg/1 — — — —
C 26|hUH mg/1 — — — —
HEAKEH D 1| 7=/ — V8 mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|HESH mg/1 — < 0.004 — —
D AR mg/1 — — — —
D 5|EfRME~ mg/1 — — — —
D 6/(&)7nmAi mg/1 — — — —
D 8n—~FHFHHmE mg/1 < 0.5 < 0.5 < 0.5 < 0.5
BoEl |E 2| MinyEeRezE R mg/1 — — — —
E  3|HMIEEFR mg/1 — — — —
HEKEEEE |F 3| @R mS/m 2,900 770 17 20
F 5|3 MR ERESR {#,/100m1 4 52 50 18
F 23/ A 4 mg/1 10, 000 2, 400 42 48
FEREE S 170010-44 | 170010-47 | 170010-52 | 180010-1




[ s: ) ki
FRAEA H| SEEKI8HE | ERKISH | ERKISHE | SEAKLISEE
FHExtg 5H9H 6H7H 7TH12H 8H2H
BiHOEE A 1| ERKLE ety ety ety ety
A 2| RKfE & 5 & 5
A 3BKIFH 4y 14:35 13:27 15:20 6:50
A 6| RKEE m 1.40 1.80 1.80 0.98
A TR m 0.10 0.10 0.10 0.10
A 8|&UR C 28.0 26.0 27.3 26.5
A 9PKIE C 19.0 24. 3 23.3 25. 2
A 101 | F#RFH 4y 12:47 11:50 15:36 7:97
A 102 R B4y 18:54 18:18 8:55 0:49
A 114481 It | sl | EeEH | e
A I2|RK 5L i 5L i 5L i 5L
A 13|BHEE cm >100 >100 >100 >100
AEIEEREE (B 1|pH 7.8 7.5 7.3 7.1
(KIE.:°C) (20) (25) (24) (26)
B 2[D0 mg/1 11 9.3 9.3 7.2
B 3[BOD mg/1 0.9 0.6 1.2 < 0.5
B 4|coDp mg/1 1.8 2.6 2.1 2.3
B 5/SS mg/1 3 4 2 2
B 6| KIGHREK MPN/100m1 1, 100 2,400 35, 000 7, 000
B 7|#REH mg/1 0.70 0. 65 0.62 0.70
B 8V mg/1 0.015 0. 028 0. 023 0. 023
# FE|C 1B RITA mg/1 < 0.001 — — —
c 2/®>YTv mg/1 <0.1 — — —
C 4| mg/1 < 0.005 — — —
C 567w mg/1 < 0.005 — — —
C 6/b# mg/1 0. 002 — — —
C  T|HIKER mg/1 < 0. 0005 — — —
C 8|7/ ILKER mg/1 < 0. 0005 — — —
C  9|pcB mg/1 < 0. 0005 — — —
C 10/RYZma=FL > mg/1 < 0.001 — — —
C 1|7 +T77apzFL v mg/1 < 0.001 — — —
C 12|\t iRE mg/1 < 0.0002 - — —
C 13|¥YrummAry mg/1 < 0.001 — — —
C 14|1,2-Y7ou=x i mg/1 < 0.0004 — — —
C 15|, L,1-FYZmpxiy mg/1 < 0.001 — — —
C 16/1,1,2- Y Zmpxiy mg/1 < 0. 0006 — — —
C 17|,1-YZpuxFL v mg/1 < 0.001 — — —
C 18|vA-1,2-yZan=zFL v mg/1 < 0.001 — — —
C 19]1,3-YZ7murFay mg/1 < 0.0002 — — —
C 20[F 7T L mg/1 < 0.0006 — — < 0. 0006
C 21|v=r (CAD) mg/1 < 0. 0003 — — < 0.0003
C 22| F A hnT mg/1 < 0.001 — — < 0.001
C 23Ry Pr mg/1 < 0.001 — — —
C 24|ELv mg/1 < 0.002 — — —
C 257 v mg/1 < 0.1 — — —
C 26|k H mg/1 < 0.1 — — —
PEAHEH (D 1|7/ —/L¥E mg/1 — — — —
D 2|4 mg/1 — — — —
D 3|#sN mg/1 < 0.003 — — < 0.003
D AR mg/1 — — — —
D 5|IEfRME~ mg/1 — — — —
D 6/(&)7nmAi mg/1 — — — —
D 8n—~FHFHHmE mg/1 < 0.5 < 0.5 < 0.5 < 0.5
Tk |E 2| HinyeteEE mg/1 0. 004 — — —
E  3hHfEREESR mg/1 0. 41 — — —
HEKEREE |F 3| @R nS/m 11 72 10 120
F 5|3 RIGERE fi#/100m1 32 60 370 260
F 2331 4 mg/1 28 200 18 380
FEREE S 180010-4 | 180010-14 | 180010-18 | 180010-22




[ s: ) ki
FRAEA H| SEEKI8HE | ERKISH | ERKISHE | SEAKLISEE
FHExtg 9H6H 10H5H 11A7H 12750
BiHOEE A 1| ERKLE ety ety ety ety
A 2| RKfE e = i) e
A 3BKIFH B4y 13:50 13:10 15:45 14:45
A 6| RKEE m 2.01 2. 00 1.71 1.65
A TR m 0.10 0.10 0.10 0.10
A 8|&UR C 23.7 26.8 14.5 10.8
A 9PKIE C 24. 6 22. 4 15.3 10.3
A 101 | F#RFH 4y 13:42 13:19 15:43 14:53
A 102 R B4y 20:19 6:58 9:47 8:59
A 114481 It | sl | EeEH | e
A I2|RK 5L i 5L i 5L i 5L
A 13|BHEE cm >100 >100 >100 >100
AEIEEREE (B 1|pH 7.3 7.5 8.0 8.1
(KIE.:°C) (24) (23) (16) (12)
B 2[D0 mg/1 8.2 8.8 10 11
B 3[BOD mg/1 0.6 0.6 < 0.5 0.6
B 4|coDp mg/1 2.4 2.0 2.2 2.4
B 5/SS mg/1 2 2 2 2
B 6| KIGHREK MPN/100m1 4,900 1, 700 3, 300 490
B 7|#REH mg/1 0.52 0.53 0. 49 0.41
B 8V mg/1 0. 027 0. 026 0. 026 0. 024
# FE|C 1B RITA mg/1 — < 0.001 — —
c 2/®>YTv mg/1 — <0.1 — —
C 46 mg/1 — < 0.005 — —
C 567w mg/1 — < 0.005 — —
C 6/b# mg/1 — 0. 001 — —
C  T|HIKER mg/1 — < 0. 0005 — —
C 8|7/ ILKER mg/1 — < 0. 0005 — —
C  9|pcB mg/1 — < 0. 0005 — —
C 10/RYZma=FL > mg/1 — < 0.001 — —
C 1|7 +T77apzFL v mg/1 — < 0.001 — —
C 12|\t iRE mg/1 — < 0.0002 — -
C 13|¥YrummAry mg/1 — < 0.001 — —
C 14|1,2-Y7ou=x i mg/1 — < 0.0004 — —
C 15|, L,1-FYZmpxiy mg/1 — < 0.001 — —
C 16/1,1,2- Y Zmpxiy mg/1 — < 0. 0006 — —
C 17|,1-YZpuxFL v mg/1 — < 0.001 — —
C 18|vA-1,2-yZan=zFL v mg/1 — < 0.001 — —
C 19]1,3-YZ7murFay mg/1 — < 0.0002 — —
C 20[F 7T L mg/1 — — — —
C 21|y~ (CAD) mg/1 — - — —
C 2|FAX T mg/1 — — — —
C 23Ry Pr mg/1 — < 0.001 — —
C 24|ELv mg/1 — < 0.002 — —
C 25|7vFHE mg/1 — 0.2 — —
C 26| UFHE mg/1 — 0.5 — —
HEARHH (D 1| 7=/ —VE mg/1 — — < 0.05 —
D 24 mg/1 — — < 0.004 —
D 3|HESH mg/1 — — < 0.003 —
D AR mg/1 — — < 0.03 —
D 5~ T mg/1 — — 0. 005 —
D 6/(&)7nmAi mg/1 — — < 0.05 —
D 8n—~FHFHHmE mg/1 < 0.5 < 0.5 < 0.5 < 0.5
H9eA b |E 2| AGRRESE mg/1 — 0. 004 — —
E  3|HMIEEFR mg/1 — 0.37 — —
HERERES |F 3|EER mS/m 440 660 740 1, 800
F 5|3 RIGERE fi#/100m1 470 66 330 30
F 231 4 mg/1 1, 400 2,100 2, 500 6, 500
FEREE S 180010-31 | 180010-35 | 180010-41 | 180010-48




[ s: ) ki
FHAEA H| SEEKI9AE | RO | FRR194E
FHExtg 1A5H 2H6H 3H2H
BB (A L EKAE et ety ety
A 2| RKfE & 5 5
A 3BKIFH HE: Sy 15:55 7:00 14:20
A 6| EKIE m 1.65 1.55 1.65
A TR m 0.10 0.10 0.10
A 8|&UR C 7.5 5.0 19.5
A 9KIR C 10.2 7.2 14.3
A 101 | F#RFH HE: Sy 16:08 4:53 14:34
A 102 R B4y 10:15 11:09 8:34
A 11408 el | el | RasEi
A 12|RK i 5L i 5L i 5L
A 13| B cm >100 >100 >100
AVERET B 1|pH 7.9 7.3 8.2
(KIE.:°C) (13) (14) (15)
B 2/DO mg/1 12 11 12
B 3|BOD mg/1 < 0.5 0.7 1.9
B 4|COD mg/1 2.0 2.9 2.7
B 5|SS mg/1 1 1 2
B 6| KIGHREK MPN/100m1 330 790 8
B 7|#REH mg/1 0. 60 0. 59 0.48
B 8V mg/1 0. 026 0. 026 0. 035
e FlC 1|FFIUA mg/1 — — —
C 2/(B®)vTv mg/1 — — —
C 48 mg/1 — — —
C 567w mg/1 — — —
C 6/b# mg/1 — — —
C  T|HIKER mg/1 — - -
C 8|7/ F/LkEE mg/1 — — —
C 9|PCB mg/1 — — —
C 10|rYV BT L mg/1 — — —
C 1|7 hT7Z7uvpuxFLv mg/1 — — —
C 12|\t iRE mg/1 — — —
C 13|¥r7muaRrAHv mg/1 — — —
C 14|1,2-v/7mouxZ mg/1 — — —
C 15,1, 1-FY =iy mg/1 — — —
C 16/,1,2-rY vz mg/1 — — —
C 17|,1-YZ7uanzF L mg/1 — — —
C 18|vA-l,2-YZumu=FL v mg/1 — — —
C 19|1,3-vyZ7murmo~Xr mg/1 — — —
C 20[F 7T L mg/1 — — —
C 21|~ (CAT) mg/1 — - —
C 2|FAX T mg/1 — — —
C 23| ¥ mg/1 — — —
C 24|ELv mg/1 — — —
C 25|7vFHE mg/1 — — —
C 26| UFHE mg/1 — — —
HEAKREH D 1|7 =/ — V8 mg/1 — — —
D 2|4 mg/1 — — —
D 3|HESH mg/1 — 0. 005 —
D AR mg/1 — — —
D 5\IEfRME~ T mg/1 — — —
D 6/(&)7nmAi mg/1 — — —
D 8n—~FHHmmE mg/1 < 0.5 < 0.5 < 0.5
BEl |E 2 MinNEeRezE R mg/1 — — —
E  3|HMIEEFR mg/1 — — —
HEKEREE |F 3| @R nS/m 1, 600 940 2, 500
F 5|3 RIGERE 1#/100m1 40 50 5
F 23/t A 4> mg/1 5, 700 3, 100 8, 600
FEREE S 180010-52 | 180010-59 | 180010-65




PR

PE) TR (B

FHAEA H| SEEKI8HE | SERKISHE | SERKISHE | SEAK1ISEE
FHEXG 1A11H 1A11H 1A 120 1A 120
BIHOEE A 1| ERKLE ety ety ety ety
A 2| KfE 5 5 5 75
A 3|ERAKEEZ B4y 17:10 23:55 5:41 13:55
(GiLA cm 218 50 212 139
A 114481 sl | mesEl | EAE | RaEH
A 13)BHEE cm >100 >100 >100 >100
FRAEA H| SEEKI8HE | CERKISHE | ERKISHE | SEAK1ISEE
2%t 2H1H 2H1H 2H2H 2H2H
BIHOEE A 1| ERK(LE ety ety ety ety
A 2| KfE = = i =
A 3|ERAKEEZ B4y 16:55 23:28 5:21 13:50
(GiLA cm 58 295 2 228
A 114481 sl | meaEl | EAE | RaEH
A 13)BHEE cm >100 >100 >100 >100
FRAEA H| SEEKI8HE | ERKISHE | ERKISHE | SFEAK1ISEE
&%t 3HTH 3HTH 3H8H 3H8H
BiHOEE A 1| ERKLE ety ety ety Pty
A 2| KfE 75 75 75 75
A 3|ERAKEEZ B4y 17:44 23:58 5:53 9:40
(A cm 116 147 213 187
A 11448 sl | sl | EAEl | RaEH
A 13|BHLEE cm >100 >100 >100 >100
FHAEA H| SEEKI8HE | ERKISHE | SEAKISH: | SEAK1ISEE
FHExtg 4726 H 47 27H 47 27H 47 27H
BiHOEE A 1| ERKLE ity ety ity ety
A 2| KfE & 55 & 75
A 3|ERAKEEZ B4y 17:50 0:10 6:05 14:20
(GiA cm 241 122 22 13
A 11408 fsEl] | mEeaEl | EeEl | RaAEH
A 13|BEE cm >100 >100 >100 >100
FHAEA H| SEEKISHE | CERKISH | SEAKISHE | SFEAK1ISEE
&%t 5H8H 5H8H 5H9H 5H9H
BIHOEE A 1| ERKNLE ity ety ety ety
A 2| KfE E 75 75 75
A 3|ERAKEEZ B4y 17:40 23:45 6:55 14:35
(GiA cm 234 113 259 97
A 11408 el | el | eS| RaEH
A 13|BLEE cm >100 >100 >100 >100
FRAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1ISEE
2%t 6H6H 6H6H 6H7H 6H7H
BIHOEE A 1| ERKLE ety ity ety ety
A 2| KfE 75 5] & 755
A 3|ERAKEEZ B4y 17:40 23:55 6:58 13:27
(GiA cm 235 158 225 119
A 11448 el | el | eS| RaEH
A 13|BEE cm >100 >100 >100 >100




PR

PE) TR (B

FRAEA H| SEEKI8HE | ERKISHE | SERKISHE | SEAK1ISEE
FHExtg 7TH11H 7TH12H 7TH12H 7TH12H
BIHOEE A 1| ERKLE it it it it
PN S 2 2 2 2
A 3|ERAKEEZ B4y 17:40 0:00 6:55 15:20
(GiiA cm 187 267 244 13
A 114481 sl | mesEl | EAE | RaEH
A 13|BHLEE cm >100 >100 >100 >100
FHAEA H| SEEKI8HE | ERKISH | SERKISHE | SEAK1ISEE
FHExtg 8H1H 8H2H 8H2H 8H2H
BIHOEE A 1| ERK(LE ety it it it
A 2| KfE 5 55 75 75
A 3BKIFH B4y 18:55 0:35 6:55 15:20
(GiLA cm 137 283 118 235
A 114481 sl | sl | EAE | EaEH
A 13)BHLEE cm >100 >100 >100 >100
FHAEA H| SEEKI8HE | ERKISH | SERKISHE | SFEAK1ISEE
A 9H5H 9H5H 9H6H 9H6H
BIHOEE A 1| ERKLE ety it ity it
A 2| KfE 5 75 5§ =
A 3| ERKIFH B4y 18:08 23:10 6:40 13:50
(GiA cm 293 192 292 40
A 11448 fsEl] | meaEl | eS| RaEH
A 13|BHLEE cm >100 >100 >100 >100
FHAEA H| SEEKISHE | ERKISHE | SERKISHE | SEAK1ISEE
FHExtg 107 4H 10H5H 10754 10H5H
BiHOEE A 1| ERKNLE ety ity it it
A2\ RfE 2 2 £ 2
A 3EKIEH B4y 17:30 0:55 6:53 13:10
(GiA cm 284 109 303 51
A 11448 el | mesEl | EeaEN | RaEH
A 13|BEE cm >100 >100 >100 >100
FHAEA H| SEEKISHE | CERKISH | SEAKISHE | SEAK1ISEE
FHEXG 11H6H 11HA7H 11HA7H 11HA7H
BIHOEE A 1| ERKNLE ety it ety it
A 2| K 75 = = I
A 3|ERAKEEZ B 4y 17:20 0:45 6:55 15:45
(GiA cm 186 100 100 113
A 11408 fsEl] | el | eS| e
A 13|BEE cm >100 >100 >100 >100
FRAEA H| SEEKISHE | ERKISHE | SEAKISHE | A8
FHExtg 12340 12H35H 12H5H 12H35H
BIHOEE A 1| ERKNLE ety it ity ety
A 2| KfE i 75 75 =
A 3|ERAKEEZ B4y 17:30 0:10 6:56 14:45
WL cm 236 72 259 117
A 114481 sl | meaEl | eS| RaEH
A 13)BEE cm >100 >100 >100 >100




[ e

PE) TR (B

FRAEA H| SEEKI9AE | ERKI9E | SERRI9E | SEARL9E
FHExtg 1740 1A5H 1A5H 1A5H
BIHOEE A 1| ERKLE ety it it it
A 2| KfE 755 75 5 =
A 3BKIFH M 4y 17:30 0:35 7:10 15:55
(GiiA cm 163 111 167 110
A 114481 sl | mesEl | EAE | RaEH
A 13|BHLEE cm >100 >100 >100 >100
FRAAEA H| SEEKL19AE | SRR | SERRI9E | SEARL9E
FHExtg 2H5H 2H5H 2H6H 2H6H
BIHOEE A 1| ERK(LE ety it it it
A 2| KfE 5 55 75 75
A 3BKIFH B4y 17:25 23:50 7:00 13:15
(GiLA cm 82 276 96 234
A 114481 sl | sl | EAE | EaEH
A 13)BHLEE cm >100 >100 >100 >100
FRAEA H| SEEKL19AE | ORI | SERRI9E | SEARL9E
FHExtg 3H1A 3H2H 3H2H 3H2H
BiHOEE A 1| ERKLE ety ity it it
A 2| KfE 75 75 5 75
A 3|ERAKEEZ B4y 17:40 0:50 7:10 14:20
(A cm 210 46 258 96
A 11448 sl | sl | EAaE | RaEH
A 13|BHEE cm >100 >100 >100 >100




